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Question Number : 1 Question Id : 518120401 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The given two expressions will have the same value if two terms on either side or on the same side are interchanged. Find the CORRECT term to
be interchanged from the options.

8+3-6+5x7=37+6+4-8
Options :

1. ®* 8and 4

2. % 5and 8

3. 3and 4

4. % 4and 7



Question Number : 1 Question Id : 518120401 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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8+3-6+5x7=37+6+4-8
Options :

1. % 8 3R 4
2. % 53R8
3. ¥ 3 3R 4
4. % 43R 7

Question Number : 2 Question Id : 518120402 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the CORRECT combination of mathematical signs to replace * signs and to balance the following equation.

(11 *75*15)*2 * 57
Options :

l.#® ++x=

2.% x ++ =

3.% ++x=

4. ® x++=

Question Number : 2 Question Id : 518120402 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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(11 *75*15) *2* 57
Options :
. % +4+x=




2.% X+~ + =
3.% + X =
4, % X+ +=

Question Number : 3 Question Id : 518120403 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Four number-triples are given, three of which are alike in a certain way and one is different. Select the number-triple which is odd from the
remainder.

Options :

1. ® 66,7,9
2.9 220,12, 18
3. % 179, 11, 16
4. % 155,19,8

Question Number : 3 Question Id : 518120403 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. # 66,7,9

2.9 220,12, 18

3. % 179,11, 16

4, % 155,19, 8

Question Number : 4 Question Id : 518120404 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

If ‘—* and ‘x’ signs are interchanged and if numbers ‘6’ and ‘5’ are interchanged, then which of the following equations is CORRECT?
Options :

l.*5-17x6=99

2.% 5-15x6=287



3. % 5-11x6=065
4.9 5-13x6=173

Question Number : 4 Question Id : 518120404 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1.%¥5-17x6=99

2. % 5-15x6=87

3.% 5-11x6=065

4.9 5-13x6=73

Question Number : 5 Question Id : 518120405 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which two numbers need to be interchanged to make the following equation CORRECT?

4+3x8=20
Options :

1. * 3and 8
2. % 4 and 20
3. % 8and 20
4. % 4 and 8

Question Number : 5 Question Id : 518120405 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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4+3x8=20
Options :



1. % 338
2. % 43R 20
3. % 8 3R 20
4.9 43R 8

Question Number : 6 Question Id : 518120406 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Arnab, a 15-year-old child, is three times as old as his cousin Arjun. How old will Arnab be when he is twice as old as Arjun?
Options :

1. % 15

2.9 20

3. % 22

4. % 25

Question Number : 6 Question Id : 518120406 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. ® 15

2.9¥ 20

3. % 22

4. % 25

Question Number : 7 Question Id : 518120407 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

If ‘4’ means ‘addition’, ‘&’ means ‘division’, ‘%’ means ‘multiplication’ and ‘@’ means ‘subtraction’, then what is the value of the following
expression?



95% 25 @ 36 & 9 # 56
Options :
1. # 3215
2. % 1328
3. % 2116
4. ¥ 2427

Question Number : 7 Question Id : 518120407 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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95 % 25 @ 36 & 9 # 56
Options :
1. # 3215
2. % 1328
3. % 2116
4, ¥ 2427

Question Number : 8 Question Id : 518120408 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the option that is CORRECT for the bracketed terms with respect to their inclusion in the given series.

100, 98, 94, 88, (80), 70, 58, 44, 28, 10, (-20)

Options :

1. # Both the bracketed terms are correct

2. ¥ Both the bracketed terms are incorrect

3. % The first bracketed term is correct and second term is incorrect

4. % The first bracketed term is incorrect and second term is correct

Question Number : 8 Question Id : 518120408 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
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100, 98, 94, 88, (80), 70, 58, 44, 28, 10, (-20)

Options :

1. % I HIgPI H <l T8 T 1 §

2. % QI HINDI H &I T3 IRSATY Td &

3. ¥ UBd BIFD H 4l 7T TS Fg1 © SR G DIYD H I 78 W1 Tefd §
4. % U DHIFP A <} TS T 7T & TR GER HIFD N ¢ TS T W61 §

Question Number : 9 Question Id : 518120409 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the number that can replace the question mark (?) in the given grid.

256 | 36 | 400
441 | 35| 196
625 [ 7 | 900

Options :
1. % 39
2. % 45
3. % 50
4. ¥ 55

Question Number : 9 Question Id : 518120409 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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256 | 36 | 400
441 | 35 | 196
625 | 7 | 900

Options :
1. % 39
2. % 45
3. % 50
4. ¥ 55

Question Number : 10 Question Id : 518120410 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
How many circles are there in the given figure?

Options :
1. % 19
2. % 17
3. % 15
4.v 13



Question Number : 10 Question Id : 518120410 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :
1. % 19
2. % 17
3. % 15
4.9 13

Question Number : 11 Question Id : 518120411 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the diagram hat best represents the relationship between:

Mammals, Whales, Dolphins, Hens
Options :

© o



3.¢¥

Question Number : 11 Question Id : 518120411 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

© o



3.

Question Number : 12 Question Id : 518120412 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Two statements are given, followed by two conclusions numbered I and II. You have to take the given two statements to be true even if they seem
to be at variance from commonly known facts. Read the conclusion and then decide which of the given conclusions logically follows from the
two given statements, disregarding commonly known facts.

Statements: The new ways of farming used less labour.

Conclusions:
I. The use of labour on farms has become limited.
II. The labour has not interested in farming.

Options :

1. % Only conclusion I follows.

2. % Only conclusion II follows.

3. % Both conclusion I and II follows.

4. % Neither conclusion I nor II follows.



Question Number : 12 Question Id : 518120412 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Question Number : 13 Question Id : 518120413 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the option that is related to the third word in the same way as the second word is related to the first word.

HUMAN : MAMMAL : : SNAKE : ?
Options :

1. # INSECT

2. % RODENT

3. % REPTILE

4. ¥ AMPHIBIAN

Question Number : 13 Question Id : 518120413 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
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Options :
1. % Bic
2. % Hdd
3. ¢ ORYY

4. % IHIR

Question Number : 14 Question Id : 518120414 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Choose the pair that best represents a similar relationship to the one expressed in the original pair of words.

Tiger : India

Options :

1. ¥ Kiwi : New Zealand
2. # Giant Panda : Japan
3. % Cow : Bangladesh
4. % Bull : Pakistan

Question Number : 14 Question Id : 518120414 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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3. % T IR
4. % 9 ; TP

Question Number : 15 Question Id : 518120415 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the option in which the given figure is embedded.

X

Options :

&
&
®

3. ¢



.___..--"'
g

Question Number : 15 Question Id : 518120415 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Question Number : 16 Question Id : 518120416 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

On a farm, there are 50 goats, 45 hens, 10 buffaloes with some housekeepers. If the total number of feet is 230 more than the number of heads in
the farm, then what is the number of housekeepers in the farm?

Options :
1. * 10
2.¥5
3.% 6
4. % 8

Question Number : 16 Question Id : 518120416 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. %10

2.95

3.%6

4, % 8

Question Number : 17 Question Id : 518120417 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the number that can replace the question mark (?) in the following series.



97, 105, 78, 142, 77,233,110
Options :

1. % 123

2. %75

3. 17

4. % 34

Question Number : 17 Question Id : 518120417 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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97,105, 78, 142, ?, 233, -110
Options :

1. % 123

2. %75

3.¥ 17

4. % 34

Question Number : 18 Question Id : 518120418 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A man is facing towards the South. He turns 180° to his right, and then he turns 270° left. Again, he turns 45° right. In which direction is he
facing now?

Options :

1. ® West

2. % North-East

3. % South-East

4. % North-West

Question Number : 18 Question Id : 518120418 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. % gigH

2. % IWR-Yd

3. ¢ af&ugd

4. % ITRUEH

Question Number : 19 Question Id : 518120419 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Five letter-clusters have been given, out of which four are alike in some manner and one is different. Select the letter-cluster that is different.

LOR, CEH, PSV, JMP, BEH
Options :
1. # JMP
2. % LOR
3. ¥ CEH
4. ¥ BEH

Question Number : 19 Question Id : 518120419 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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LOR, CEH,PSV,JMP,BEH
Options :
1. % JMP
2. % LOR
3. ¥ CEH
4. % BEH



Question Number : 20 Question Id : 518120420 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Choose an appropriate answer to fill in the place of (?) mark.

6 9 21
10| 2 |12 15| 3 |18 35 | ? |42
8 12 28
A B c
Options :
1. % 17
2. %19
3.¢¥7
4. % 14

Question Number : 20 Question Id : 518120420 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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8 12 28
A B C

Options :
1. % 17



2.% 19

3.7
4. % 14
General Awareness
Group Number : 2
Group Id : 5181204
Group Maximum Duration : 0
Group Minimum Duration : 0
Show Attended Group? : No
Edit Attended Group? : No
Break time : 0
Group Marks : 20
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Enable Mark as Answered Mark for Review and Clear Response : Yes
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Sub-Section Id : 5181206
Question Shuffling Allowed : Yes

Question Number : 21 Question Id : 518120421 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25

In 2019, the Archaeological Survey of India (ASI) has identified how many monuments as 'Must See Monuments'?
Options :

1. ® 135

2. % 136

3. % 137

4, ¥ 138

Question Number : 21 Question Id : 518120421 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. ® 135

2. % 136

3. % 137

4. 138

Question Number : 22 Question Id : 518120422 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

UNESCO world heritage site 'Group of Monuments at Pattadakal' situated in which of the following state?
Options :

1. ¥ Karnataka

2. % Kerala

3. * Andra Pradesh

4. # Qdisha

Question Number : 22 Question Id : 518120422 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. ¥ HIcH
2. %

3. % YU
4. % 3fifg=m

Question Number : 23 Question Id : 518120423 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Who is credited for creation of present day Qwwali by fusing Persian, Arabic, Turkish and Indian traditions?
Options :

1. # Nijamuddin Aulia

2. % Amir Khusro

3. % Sabri brothers

4. % Nusrat Fateh Ali Khan

Question Number : 23 Question Id : 518120423 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

HRUT, 3Re, ThHT SR YR IRORT3M BT TSP I IAHH BT dwoaratt BT 97 fopt fem S g2
Options :

1. % FSgE oifern

2. ¢ IHR G

3. % Rl §Y

4. % TIXA g 3cl WM

Question Number : 24 Question Id : 518120424 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which of these monuments is NOT related to the great Mauryan ruler Ashoka?
Options :



1. # Sanchi Stupa, Madhya Pradesh
2. % Mahabodhi Temple, Bihar

3. % Amravati Stupa, Andhra Pradesh
4. ¥ Dhamekh Stupa, Sarnath

Question Number : 24 Question Id : 518120424 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

e & 3 SF 91 TIRS He A1 e 3RS 3 Hafd T8l 62
Options :

1. % i ¥qu, g8 U

2. % TEIEIY AfeR, fgR

3. ¢ ARG WU, 3178 T&=

4. % YOG WU, GRATY

Question Number : 25 Question Id : 518120425 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following is the classical female solo dance form of Kerala, interpreted as the dance of the celestial enchantress of Hindu
mythology?

Options :

1. # Bharatnatyam
2. ¥ Mohiniyattam
3. ® Kathakali

4. ¥ Kathak

Question Number : 25 Question Id : 518120425 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. *® HIdTRH




2. ¢ HifgI3EH
3. % HYPBl
4. % HYFH

Question Number : 26 Question Id : 518120426 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following is the famous dance of Ladakh?
Options :

1. ® Chau

2. % Shondol

3. ¥ Bhangra

4. ¥ Rauf

Question Number : 26 Question Id : 518120426 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
fFafifed § @ & I dgrg o1 UG Ta 82
Options :

1. % 8%

2. ¢ QS

3. % YFTaT

4. % I3%h

Question Number : 27 Question Id : 518120427 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
is the simplest form of composition of carnatic classical music.
Options :
1. % Varnam
2. % Sulandi



3. ¥ Gitam
4, *® Kriti

Question Number : 27 Question Id : 518120427 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. % guiag

Question Number : 28 Question Id : 518120428 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A pitcher shaped pot made of baked clay with a large belly is known as as a musical instrument.
Options :

1. # Gabgubi

2. ¥ Ghatam

3. % Esraj

4. % Edakka

Question Number : 28 Question Id : 518120428 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. % Tt

2. ¥ YcH
3. % TR




4. % TSI

Question Number : 29 Question Id : 518120429 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Pandit Vishnu Gobind Jog is known for which of the following musical instrument?
Options :

1. % Ghatam

2. % Flute

3. ¥ Violin

4. # Shehnai

Question Number : 29 Question Id : 518120429 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

ufed fawy Mfdg st Fafofed & 9 f6y arg 93 & s9H & fae 9 S 62
Options :

1. % YcH

2. % §igd

3. ¢ AR

4. % TG

Question Number : 30 Question Id : 518120430 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Bandar Fort is located in which of the following district of Andhra Pradesh?
Options :

1. ¥ Krishna

2. % Anantapur

3. % Chittoor

4. % Cuddapah



Question Number : 30 Question Id : 518120430 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

daR gl iy uew & fFufead 7 @ fova forer & Ry g2
Options :

1. ¢ oW

2. % AR

3. % foRR

4. % P

Question Number : 31 Question Id : 518120431 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In which language are the Kathakali songs sung?
Options :

1. % Kannada

2. % Tamil

3. % Manipravalam

4. # Telugu

Question Number : 31 Question Id : 518120431 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Hudat Hd FHafaRad § 3 ford |ST # e S 89
Options :

1. # PSS

2. % qfee

3. ¢ HfUYareH

4. % A



Question Number : 32 Question Id : 518120432 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following festivals is celebrated in the scenic Ziro Valley of Arunachal Pradesh to ensure a good harvest for the state?
Options :

1. # Moatsu Mong

2. % Lui-Ngai-Ni

3. % Dree

4. % Sarhul

Question Number : 32 Question Id : 518120432 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fraffed # I &9 91 ud SrRumad U™ &t aRHIg SfiRY 91t # o & AT St o &1 SHIAAT /g AT il 82

Options :

1. % Trg i
2. % TS
3. 8l

4, % IAgd

Question Number : 33 Question Id : 518120433 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The Pilak archaeological and tourism festival is held in the state of:
Options :

1. % Manipur

2. % Tripura

3. ¥ Assam

4. ¥ Meghalaya

Question Number : 33 Question Id : 518120433 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25
e RIdTad 3R Yded Id [y g # Smford forar Srar g2

Options :

Question Number : 34 Question Id : 518120434 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The Pongal festival is held in Tamil Nadu. The word Pongal means:
Options :

1. % to eat

2. % to drink

3. ¥ to boil

4. # to plant

Question Number : 34 Question Id : 518120434 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TG H OISt T AER STASTd fahar ST 8 1 Gt Wreq; b1 312 o gYar 82
Options :

1. % 9[-l

2. % G

3. % 34l

4. % YY1 TRIHA

Question Number : 35 Question Id : 518120435 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



Which of the following plants is from the Poppy family?
Options :

1. ¥ Opium

2. % Mustard

3. % Barley

4. ¥ Maize

Question Number : 35 Question Id : 518120435 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
faffed & & i a1 diem ordt URaR 4 82
Options :

1. ¢ 3Hi (3ffUTm)

2. % Tl

3. % S

4. % Hadh]

Question Number : 36 Question Id : 518120436 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

What was the name of the most severe storm which hit the state of Odisha in 2019?
Options :

1. ¥ Amphan

2. % Vayu

3. % Fani

4. # Phailin

Question Number : 36 Question Id : 518120436 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
2019 H ST I T 31T GaH YAHR BT BT T H1H UT?
Options :



1. ® HGM
2. % 9g

3. v’arT"ﬁ(Fani)
4. % Bfem

Question Number : 37 Question Id : 518120437 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following glands of the human body produces the insulin hormone?
Options :

1. # Pituitary

2. ¥ Pancreas

3. % Parathyroid

4. # Pineal

Question Number : 37 Question Id : 518120437 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A IRR &1 FHgfafed & 3 oF I 1Y Sgfor g &1 Sde ol 82
Options :

1. % Ugy %Y

2. ¢ URY

3. % IRIUTRITS

4. % fofa3ra

Question Number : 38 Question Id : 518120438 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In which of the following prehistoric periods did agriculture start?
Options :

1. % Mesolithic Period



2. % Neolithic Period
3. # Palaeolithic Period
4. % Chalcolithic Period

Question Number : 38 Question Id : 518120438 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fFoffad 7 3 fea uifieRie o o $iY Uy s o
Options :

1. # HYUIYIUT dhlcf

2. % FdUIYIUT DTl

3. % URTYTYIUT dled

4, ® dIHYIYIUT hled

Question Number : 39 Question Id : 518120439 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following is a gelatin-like product made primarily from red algae?
Options :

1. # Yeast

2. ¥ Agar-Agar

3. % Mushroom

4. % Euglena

Question Number : 39 Question Id : 518120439 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafafad # 9 & 91 o8 ©U 9 a1 /aTd I S foraife S IdTE aidl 82
Options :

1. ® @IﬂT(Yeast)
2. ¥ QU (Agar-Agar)




3. % PPl
4. % I

Question Number : 40 Question Id : 518120440 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Human pinworm is an example of
Options :

1. #* bacteria

2. % virus

3. ¥ aschelminthes

4. # protozoans

Question Number : 40 Question Id : 518120440 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

I ooty CARTARR K]
Options :

1. % S

2. % faurg

3.9 Q@?T‘lﬁ@ﬂ\_ﬂ (aschelminthes)

4. ® Yo (protozoans)

Arithmetic Ability

Group Number : 3
Group Id : 5181205
Group Maximum Duration : 0
Group Minimum Duration : 0

Show Attended Group? : No

Edit Attended Group? : No



Break time : 0
Group Marks : 20
Is this Group for Examiner? : No

Arithmetic Ability

Section Id : 5181207
Section Number : 1
Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 20
Number of Questions to be attempted : 20
Section Marks : 20
Enable Mark as Answered Mark for Review and Clear Response : Yes
Sub-Section Number : 1
Sub-Section Id : 5181207
Question Shuffling Allowed : Yes

Question Number : 41 Question Id : 518120441 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The length of each of a pair of parallel sides in a parallelogram is 10 cm and the (perpendicular) distance between these two lines 1s 13.5 cm.
What is the area of the parallelogram?

Options :

1. ® 67.5 cm?
2. ¥ 135 cm?
3. % 150 cm?
4. % 165 cm?

Question Number : 41 Question Id : 518120441 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



IR TGS & FHHAIGR Yolsfl & YD g b dals 10 cm § 3R 37 a1 Yolefl & &9 (ddad) g 13.5 cm & | GHMIR IgHs BT
&AmE T g2

Options :

1. % 67.5 cm?

2. ¥ 135 cm?

3. % 150 cm?

4, % 165 cm?

Question Number : 42 Question Id : 518120442 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The length, width and height of a cuboid are in the ratio 2 : 3 : 5 and its width is 12 cm. What is the volume of cylinder?
Options :

1. % 2040 cm?

2. ¥ 1920 cm?

3. % 1840 cm®

4. % 1600 cm’

Question Number : 42 Question Id : 518120442 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TP TATH B! TalTs, ASTS 3R TS BT AT 2 : 3 : 5§ 3R 3TD! AISTS 12 em & | T I BT 3T fava1 82
Options :

1. % 2040 cm?

2. ¥ 1920 cm?

3. % 1840 cm?

4. % 1600 cm?

Question Number : 43 Question Id : 518120443 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



The greatest 5 digit number exactly divisible by 92 is:
Options :

1. ¥ 99922

2. % 99952

3.9 99912

4. % 99902

Question Number : 43 Question Id : 518120443 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

92 I faUrsT Tad 981 5 3ic aTel T I Il 32
Options :

1. * 99922

2. % 99952

3. ¥ 99912

4. % 99902

Question Number : 44 Question Id : 518120444 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

How many digits will be there to the right of the decimal point in the product of 65.55 and 0.01354?
Options :

1. %5

2.6

3.% 7

4. % 8

Question Number : 44 Question Id : 518120444 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

65.55 3R 0.01354 & TOFHA H GG [ag & &l AR b 3id g

Options :




l.*=5
2.¥6
3.% 7
4. % 8

Question Number : 45 Question Id : 518120445 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The HCF of two numbers is 8, while their LCM is 144. Find the other number, if one number is 72.
Options :

1. #® 12

2.¥ 16

3. % 18

4. % 20

Question Number : 45 Question Id : 518120445 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

& 1S BT HETH JHIAAD § § S 3] T THIGd® 144 g | IS T TeAT 72 ], Y GO e J1d Piford |
Options :

1. % 12

2.9 16

3. % 18

4. % 20

Question Number : 46 Question Id : 518120446 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
If length, breadth and height of a cuboid are 1 m, 2 m and 3 m respectively, then what is the length of the diagonal of the cuboid in metres?

Note: For this question, discrepancy is found in question/answer. So,this



question 1s 1gnored for all candidates.
Options :

1.3

2.5

3.4

4.6

Question Number : 46 Question Id : 518120446 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

gfe frdt gy o1 a1, TeTs 3R HaTs HA: 1 m, 2 m 3R 3 m g, A TTH & fJuf o1 arg Hex d J1d B3|
Note: For this question, discrepancy is found in question/answer. So,this

question 1s 1gnored for all candidates.
Options :

1.3

2.5

3.4

4.6

Question Number : 47 Question Id : 518120447 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Find the mean daily wages (in ) of 50 workers of a factory from the following table.

Daily wages (3) | 90-110 | 110-130 | 130-150 | 150-170 | 170-190
No. of workers | 14 12 6 10 8

Options :

1. % 145.40
2. % 140.40
3. % 143.40



4.+ 134.40

Question Number : 47 Question Id : 518120447 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

freafafaa arfoe & Bl hadr & 50 Foexl & Hiwg Efas Foedr (2 #) 9
AGED IGE;?I’ () |90-110 | 110-130 | 130-150 | 150-170 | 170-190

A Fr wE=T | 14 12 6 10 8

Options :

1. % 145.40
2. % 140.40
3. % 143.40
4.9 134.40

Question Number : 48 Question Id : 518120448 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



A toy manufacturer company carried out an experiment to measure the diameter of tennis ball produced. The diameter
of each ball was measured to the nearest mm. The results are shown in the following histogram.

25
20

Number of balls
[ (Bl [ =]
[ LA [ )

LA

=]

15-20 20-21 21-22 22-23 23-24 24-75
Diameter {in mm)

What percent of tennis balls have diameter more than 22 mm?
Options :

1. # 60%

2. % 61.75%

3. ¥ 63.75%

4. % 60.25%

Question Number : 48 Question Id : 518120448 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



Fis Tetar sa= Il 90, 39 595 Fg S F 3w F1 Aa F O o 919 714§ 933w
Iz =7 e Repean e & Amar smar g1 oftome, e ste ammafae & e oo

20

il I

15-20 20-21 21-22 22-23 23-24

]
]

=
LA

et & gEar

Ln

=]

Diameter (in mm)

fraer gfaea 2faw e & =g 22 mm ¥ 30w 32
Options :

1. % 60%

2. % 61.75%

3. ¥ 63.75%

4. % 60.25%

Question Number : 49 Question Id : 518120449 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The smallest three-digit prime number of the following is:
Options :

1. % 102

2. %103

3.4 101

4. % 107



Question Number : 49 Question Id : 518120449 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

I 3ipl 1 qaY BICT ST - &l
Options :

1. % 102

2. % 103

3.9 101

4. % 107

Question Number : 50 Question Id : 518120450 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

What is the capacity of the largest vessel that can empty the oil from three vessels containing 32 litre, 24 litre and 48 litre an exact number of
times?

Options :
1. ® 96
2. % 48
3.8
4. % 12

Question Number : 50 Question Id : 518120450 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

I8 a9 981 Fci fha ofiex &1 8T forgd 32 offeR, 24 ofiex 3R 48 Tex & ad & Sa-1 ! Had T=a1 H @rel fhar S JabdT 82
Options :

1. * 96

2. % 48

3.8

4. % 12

Question Number : 51 Question Id : 518120451 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
Express the mixed recurring decimal 15.732 in rational form.
Options :
70

15—
1 % 99

15575

5 @ 990

15575

5 % 999

701
4 % 99

Question Number : 51 Question Id : 518120451 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

afea amadt e 15.732 &7 9IET HT &7 gE?

Options :

15575
5 @ 990



15575

3 % 999
701
4% 99

Question Number : 52 Question Id : 518120452 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

If each of the 22 persons in a party shakes hand with every other person, what is the total number of handshakes?
Options :

1. # 190 times

2. % 231 times

3. % 232 times

4. % 242 times

Question Number : 52 Question Id : 518120452 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

gfe fpddt oo o Tt 22 wufad Te-gar 9 814 firard § d od fhant aR g1y e Smae
Options :

1. % 190 dIR

2. ¥ 231 dR

3. % 232dR

4. % 242 dR

Question Number : 53 Question Id : 518120453 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which of the following is divisible by 45?



Options :

1. % 181560

2. % 331145

3. ¥ 202860

4. % 2033552

Question Number : 53 Question Id : 518120453 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
ol & 3 o @ 9w 45 9 faursa 82
Options :

1. *® 181560

2. % 331145

3. ¥ 202860

4. % 2033552

Question Number : 54 Question Id : 518120454 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Simplify.
1 1
25 F3z=0m
Options :
7

Befi
1. % 24

I
i
) w24

3 & land?2



b
#
N

Question Number : 54 Question Id : 518120454 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
WA H
1 1

p L
§

Options :
7

b4—
1% 24

7
5_
) % 24

o 132

4.% 5

Question Number : 55 Question Id : 518120455 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

How many cubes, each of the edge 3 cm can be form a cube of edge 15 cm?
Options :

1. % 25

2. %27

3.9 125



4. % 144

Question Number : 55 Question Id : 518120455 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

3 cm &1 YIS YoM aral foda =1 9, 15 em B YA Yol3fl ara U u- i fovar S wewdr g2
Options :

1. % 25

2. % 27

3.9 125

4. % 144

Question Number : 56 Question Id : 518120456 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Ifx=(0.93 +0.84) % 0.72 +0.4. then the value of (1.125x — 0.6) is:
Options :

1.4 0.8

2. % 0.75

3. % 0.5

4. % 0.525

Question Number : 56 Question Id : 518120456 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

afe x = (0.93 + 0.824) x 0.72 + 0.4%, @ (1.125x - 0.6) & HF FIT g7
Options :

1.¥0.38

2. %0.75

3.%05

4. % 0.525




Question Number : 57 Question Id : 518120457 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

If the 9-digit number 98x46287y is divisible by 72, then what is the value of (2x +y)?
Options :

1. = 11

2.% 14

3.% 17

4. v 18

Question Number : 57 Question Id : 518120457 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

e 9-3fch} B Teh TS 98x46287y, 72 T fAUTT B, A (2x + y) BT HH FT T
Options :

1. = 11

2.% 14

3. % 17

4. ¥ 18

Question Number : 58 Question Id : 518120458 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Hema gains 12.5% by selling an aticle for X 630. If she sells it for X 574, then her gain/loss percent is:
Options :

1. * Loss 2.5%

2. % Gain 2.5%

3. * Gain 0.25%

4. * Loss 5%



Question Number : 58 Question Id : 518120458 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

T G DI 2 630 W I° TR HT 12.5% BT TH T il ¢ | AlE I8 3 2 574 H =il 5, Al SUDT ATH/TH U=rd 1 grm?
Options :

1. % 2.5% BT

2.9 2.5% Y

3. % 0.25% <Y

4. % 50, BN

Question Number : 59 Question Id : 518120459 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The average marks obtained by 60 students in a test is 50. If the average marks of the passed students is 54 and that of students who failed is 30,
then what is the number of students who passed?

Options :
1. ¥ 50
2. % 48
3. % 45
4. % 42

Question Number : 59 Question Id : 518120459 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TP TN & 60 BT gRT UG 39 37 50 g | TS S0l SH & 37 3ieh 54 § SR il S & 3Md 3ih 30 €, A <ol Bl b
T faret 8

Options :

1. ¥ 50

2. % 48

3. % 45

4. % 42



Question Number : 60 Question Id : 518120460 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The average of the squares of four consecutive even positive integers is 126. What is the average of 2 times the greatest integer and 3 times the
smallest integer among the given integers?

Options :
1. % 24
2.9 26
3. % 28
4. % 30

Question Number : 60 Question Id : 518120460 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

%mewwwawﬁm&ﬁw 126 g1 fou U quifent & Ted 98 quifes & 2 7T iR a9 B Yuiies & 3 T &1 3 d 1

Options :
1. % 24
2.9 26
3. % 28
4. % 30

General English
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Group Id : 5181206
Group Maximum Duration : 0
Group Minimum Duration : 0
Show Attended Group? : No
Edit Attended Group? : No
Break time : 0

Group Marks : 20
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Section Id : 5181208
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Question Shuffling Allowed : Yes

Question Number : 61 Question Id : 518120461 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
The following text contains four underlined words or phrases. One is incorrect. Choose the INCORRECT option.

I can’t make off if it’s a man or a woman over there.
Options :

I. # can’t

2. ¥ make off

3. % if

4. % over

Question Number : 61 Question Id : 518120461 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
The following text contains four underlined words or phrases. One is incorrect. Choose the INCORRECT option.



I can’t make off if it’s a man or a woman over there.
Options :

1. % can’t

2. ¥ make off

3. % if

4. % over

Question Number : 62 Question Id : 518120462 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Read the following sentence and identify the part that has an error.

My sister said, / “This book / is mine / and that is your.”
Options :

1. # My sister said,

2. % This book

3. % is mine

4. ¥ and that is your

Question Number : 62 Question Id : 518120462 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Read the following sentence and identify the part that has an error.

My sister said, / “This book / is mine / and that is your.”
Options :

1. # My sister said,

2. % This book

3. * is mine

4. ¥ and that is your

Question Number : 63 Question Id : 518120463 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25
The parts of a sentence have been jumbled. Rearrange the jumbled parts to form a meaningful sentence.

bought gifts (P) / in the neighbourhood (Q) / my sister (R) / for all the children (S)

Options :

1. % RSPQ
2. % QPSR
3. ¥ SRQP
4. ¥ RPSQ

Question Number : 63 Question Id : 518120463 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
The parts of a sentence have been jumbled. Rearrange the jumbled parts to form a meaningful sentence.

bought gifts (P) / in the neighbourhood (Q) / my sister (R) / for all the children (S)
Options :

1. # RSPQ

2. % QPSR

3. % SRQP

4. ¥ RPSQ

Question Number : 64 Question Id : 518120464 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the meaning of the underlined idiom in the given sentence.

The students left the class in a body.
Options :

1. % quickly

2. # Secretly

3. % one by one



4. ¥ in a group

Question Number : 64 Question Id : 518120464 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the meaning of the underlined idiom in the given sentence.

The students left the class in a body.
Options :

1. * quickly

2. # Secretly

3. % one by one

4. % in a group

Question Number : 65 Question Id : 518120465 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate one word substitution for the given group of words.

A person belonging to all parts of the world.
Options :

1. # Contemporary

2. % Cosmopolitan

3. % Superman

4. % Supernatural

Question Number : 65 Question Id : 518120465 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate one word substitution for the given group of words.

A person belonging to all parts of the world.
Options :



1. # Contemporary
2. ¥ Cosmopolitan
3. % Superman

4. # Supernatural

Question Number : 66 Question Id : 518120466 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Choose the CORRECT homonym pair to be filled in the following sentence.

There is a red spot on the of the captain in the forces.
Options :

1. * naval; navel

2. % navel; naval

3. * naval; naval

4. #* navel; navel

Question Number : 66 Question Id : 518120466 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Choose the CORRECT homonym pair to be filled in the following sentence.

There is a red spot on the of the captain in the forces.
Options :

1. * naval; navel

2. % navel; naval

3. ® naval; naval

4. ® navel; navel

Question Number : 67 Question Id : 518120467 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the option is appropriate for the blanks.



She is the who the gold medal.

Options :

1. ¥ one; won
2. % won; won
3. # one; one

4. ¥ won; one

Question Number : 67 Question Id
Orientation : Vertical

: 518120467 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option

Correct Marks : 1 Wrong Marks : 0.25
Select the option is appropriate for the blanks.

She is the who the gold medal.

Options :

1. ¥ one; won
2. % won; won
3. ® one; one

4. # won; one

Question Number : 68 Question Id
Orientation : Vertical

: 518120468 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option

Correct Marks : 1 Wrong Marks : 0.25
Select the SYNONYM of the given word.

BEGET
Options :

1. ¥ Create
2. % Begin
3. # Destroy

4, % Believe

Question Number : 68 Question Id

: 518120468 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
Select the SYNONYM of the given word.

BEGET
Options :

1. ¥ Create
2. % Begin
3. % Destroy

4. % Believe

Question Number : 69 Question Id : 518120469 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Choose the option that is the homonym with the meanings a writing instrument and a holding area for animals.
Options :

1. ¥ Pen

2. # Pain

3. % Pan

4. * pane

Question Number : 69 Question Id : 518120469 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Choose the option that is the homonym with the meanings a writing instrument and a holding area for animals.
Options :

1. ¥ Pen

2. % Pain

3. * Pan

4. % pane

Question Number : 70 Question Id : 518120470 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25

Complete the idiom in the given sentence with the CORRECT phrase from the options given below. The meaning of the idiom is given in
parenthesis for guidance.

Let Mark Anthony do the talking; he’s got the (the ability to speak with eloquence and fluency).
Options :

1. % parrot’s skill

2. % gift of the magi

3. # green fingers

4. ¥ gift of the gab

Question Number : 70 Question Id : 518120470 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Complete the idiom in the given sentence with the CORRECT phrase from the options given below. The meaning of the idiom is given in
parenthesis for guidance.

Let Mark Anthony do the talking; he’s got the (the ability to speak with eloquence and fluency).
Options :

1. #* parrot’s skill

2. % gift of the magi

3. # green fingers

4.+ gift of the gab

Question Number : 71 Question Id : 518120471 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Fill in the blank with the most appropriate option.

She lost the in her eye.
Options :
1. % cite

2. % gite



3. ¥ sight
4. % sigh

Question Number : 71 Question Id : 518120471 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Fill in the blank with the most appropriate option.

She lost the in her eye.
Options :

1. # cite

2. # gite

3. ¥ sight

4. % sigh

Question Number : 72 Question Id : 518120472 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate meaning of the given idiom.

Tooth and nail

Options :

1. #¥ To torture someone by pulling out their teeth or nails

2. % To fight furiously and fiercely, with all one's strength and effort
3. # To donate one's teeth and nails after death

4. % To get a barber to cut your nails and clean your teeth.

Question Number : 72 Question Id : 518120472 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate meaning of the given idiom.

Tooth and nail



Options :

1. # To torture someone by pulling out their teeth or nails

2. % To fight furiously and fiercely, with all one's strength and effort
3. % To donate one's teeth and nails after death

4. ® To get a barber to cut your nails and clean your teeth.

Question Number : 73 Question Id : 518120473 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most suitable ANTONYMS of the following word from the options given below.

Mental
Options :

1. # Fixated
2. % Deluded
3. % Balanced
4. ® Rationale

Question Number : 73 Question Id : 518120473 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most suitable ANTONYMS of the following word from the options given below.

Mental
Options :

1. ¥ Fixated
2. % Deluded
3. ¥ Balanced
4. % Rationale

Question Number : 74 Question Id : 518120474 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



Choose the CORRECT homonym pair to be filled in the following sentence.

you mad to not a coat in this cold weather?
Options :
1. * Here; where
2. ¥ Were; wear
3. ® Where; wear

4. # Wire; were

Question Number : 74 Question Id : 518120474 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Choose the CORRECT homonym pair to be filled in the following sentence.

you mad to not a coat in this cold weather?
Options :
1. # Here; where
2. ¥ Were; wear
3. * Where; wear

4. # Wire; were

Question Number : 75 Question Id : 518120475 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate meaning of the given idiom.

Call it a day

Options :

1. % Start a new business

2. % Start working on something
3. ¥ Stop working on something

4. % To argue with someone



Question Number : 75 Question Id : 518120475 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option

Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate meaning of the given idiom.

Call it a day

Options :

1. * Start a new business

2. % Start working on something
3. ¥ Stop working on something

4. % To argue with someone

Sub-Section Number : 2
Sub-Section Id : 5181209
Question Shuffling Allowed : Yes

Question Id : 518120476 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension Questions :
No

Question Numbers : (76 to 80)
Read the following passage and answer the questions given below.

Summer season is the hottest season out of four seasons on the planet earth. Summer season comes after spring and ends before autumn. The
days are longest in summer season. In contrast, the nights are shortest in summer season. This means that early sunrise occurs and late sets the
sun in this season. June, July and August in northern hemisphere and December, January and February in southern hemisphere are the months of
this season. Hemisphere is a geographical term dividing the earth in two equal parts. Hemi means half and sphere means round. We all know
earth is round. Thus, the name hemisphere is given to half part of the earth. People wear cotton clothes in summer season as it absorbs more
sweat easily. Summer season is also linked to water drinking. People drink more water to keep themselves hydrated. Summer season has
scorching heat of the sun. Moreover, people go to hilly regions to combat heat in this season. When there is summer season in northern
hemisphere, there is winter season in southern hemisphere and vice versa. Many flowering shrubs do survive in this season but Lilies are one of
the flowers that can survive in extreme weather of the season. Musk rose is easily grown in India in the month of May.

Sub questions

Question Number : 76 Question Id : 518120477 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which is the hottest season of the earth?



Options :

1. ¥ Summer
2. # Winter
3. % Autumn

4. ® Spring

Question Number : 77 Question Id : 518120478 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Where do people usually go in summer?
Options :

1. ¥ hilly regions

2. % plains

3. % plateaus

4, % islands

Question Number : 78 Question Id : 518120479 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which flower is grown in India in the month of May?
Options :

1. % marigold

2. % lily

3. ¥ lotus

4. % musk rose

Question Number : 79 Question Id : 518120480 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following options is INCORRECT with reference to the summer season?
Options :

1. # Early sunrise

2. # Scorching heat during the day



3. ¥ Absence of flowering plants

4. % Wearing cotton clothes

Question Number : 80 Question Id : 518120481 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Find one word from the passage which means half of the earth.
Options :

1. ¥ Hemisphere

2. % Human

3. # Hydrated

4. % Musk

Question Id : 518120476 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension Questions :
No

Question Numbers : (76 to 80)
Read the following passage and answer the questions given below.

Summer season is the hottest season out of four seasons on the planet earth. Summer season comes after spring and ends before autumn. The
days are longest in summer season. In contrast, the nights are shortest in summer season. This means that early sunrise occurs and late sets the
sun in this season. June, July and August in northern hemisphere and December, January and February in southern hemisphere are the months of
this season. Hemisphere is a geographical term dividing the earth in two equal parts. Hemi means half and sphere means round. We all know
earth is round. Thus, the name hemisphere is given to half part of the earth. People wear cotton clothes in summer season as it absorbs more
sweat easily. Summer season is also linked to water drinking. People drink more water to keep themselves hydrated. Summer season has
scorching heat of the sun. Moreover, people go to hilly regions to combat heat in this season. When there is summer season in northern
hemisphere, there is winter season in southern hemisphere and vice versa. Many flowering shrubs do survive in this season but Lilies are one of
the flowers that can survive in extreme weather of the season. Musk rose is easily grown in India in the month of May.

Sub questions

Question Number : 76 Question Id : 518120477 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which is the hottest season of the earth?
Options :

1. ¥ Summer



2. * Winter
3. # Autumn

4. # Spring

Question Number : 77 Question Id : 518120478 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Where do people usually go in summer?
Options :

1. ¥ hilly regions

2. # plains

3. % plateaus

4. # islands

Question Number : 78 Question Id : 518120479 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which flower is grown in India in the month of May?
Options :

1. # marigold

2. % lily

3. # lotus

4. % musk rose

Question Number : 79 Question Id : 518120480 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following options is INCORRECT with reference to the summer season?
Options :

1. # Early sunrise

2. % Scorching heat during the day

3. % Absence of flowering plants

4. ¥ Wearing cotton clothes



Question Number : 80 Question Id : 518120481 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option

Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Find one word from the passage which means half of the earth.

Options :

1. ¥ Hemisphere
2. % Human

3. % Hydrated
4. % Musk
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Enable Mark as Answered Mark for Review and Clear Response : Yes

Sub-Section Number : 1
Sub-Section Id : 51812010
Question Shuffling Allowed : Yes

Question Number : 81 Question Id : 518120482 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

i fau T fasedl H 9 SfATa=yes ' b1 Hal Ale-fdwdg sarsul
Options :

1. #* Y + ATIRYH

2. % Al + AYh

3. ¢ 3{fd + T D

4. % 3[cfl + 3MaTD

Question Number : 81 Question Id : 518120482 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

2 e TR fasedl 9 Sraraxdes ' &1 Het IfY-fawde ga™u)
Options :

1. #® 3T + AdYDh

2. % 3T + AHTARIDh

3. ¢ 3fd + 3faRgD

4. % 37l + TS

Question Number : 82 Question Id : 518120483 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
T TP &1 G o I I & T T 82
Options :

1. % T[UIaTa® (G-



2. % gRHATUEIY® fa=eoT
3. ¢ [AfYa SemarEs fa=v
4. ® YT TS fa=wor

Question Number : 82 Question Id : 518120483 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
GH Teb ST YAl & I' e H T T B2
Options :

1. % TUdTee faRwy

2. % URATUEIYS IR0

3. ¢ (i3d J=amares fa=yor

4. % 3ATYT FATATED fARIV0T

Question Number : 83 Question Id : 518120484 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafaRed # I & 91 fawen dfe adam &1 3ererur [t 82
Options :

1. % < ST g1

2. SETSAT R

3. % 3t STt gt

4. % G4 T gHl

Question Number : 83 Question Id : 518120484 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fFofifed # 9 o9 91 fawed Ty adum &1 3areu 781 82
Options :

1. % @I ST g

2. ¥ GEI AT 6l




3. % S Sl gt
4. % 9 1A M

Question Number : 84 Question Id : 518120485 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
P T TR HejaTed Bl el 82
Options :

1. % fPaH Ed Rd g

2. % A YE U 5

3. ¥ dlqdd RY U

4. % TSR A R & |

Question Number : 84 Question Id : 518120485 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
I I a6 Hoard BT gl g7
Options :

1. % fpam It ad g

2. % §od Jeid UId &

3. ¥ dlqd sRY Y|

4. % TR gSAd R & |

Question Number : 85 Question Id : 518120486 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

e 7 3 o a1 foam 3w gafra i 82

Options :

1. % THIT-JQTor
2. % HEUL- AR
3. % 3fRY-gIH



4.V P

Question Number : 85 Question Id : 518120486 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
fFafifed 3 @ 5 a1 faam gm gafed a8 82
Options :

1. % Ypif-gafifior

2. % H=UL- g

3. % 3RY-qD

4. I

Question Number : 86 Question Id : 518120487 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
for 72 e g A g 22
Options :

1. % Uh-HHA. DT

2. ¥ 9¢- e, fadie

3. % U 3nfee, Yufd

4. % X7d- A=Y, faurad

Question Number : 86 Question Id : 518120487 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
fau T vafg 99 & ¥ &9 91 gAfera 32
Options :

1. % Up-bHd, B

2. ¢ 9g- e, factie

3. % 9. 3nfeq, yufa

4. % 7d- A=y, faurad



Question Number : 87 Question Id : 518120488 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

3R Al — S AR & T I GeTar &1 98 Sifod |
Options :

1. ¢ YTcH BT

2. % G DI BT EH

3. % Il HITd

4. % T[> YA

Question Number : 87 Question Id : 518120488 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

3R Afdd — S AT & ot I GeTa &1 I8 Sifo |
Options :

1. ¢ YTl BT A

2. % T HIS! BT MSH
3. % AT YT

4. % > Ycrd

Question Number : 88 Question Id : 518120489 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fpar & SoRT U T TP, IaHM H TR B1F YAl Icid I8 BT 1Y BIdT & I8 fobdT T B T U&f g2
Options :

1. % 3 SIYH

2. % JMgRigc®

3. ¢ A SUH

4. % FIaEy®



Question Number : 88 Question Id : 518120489 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fha1 & f9 U T 3P, IdH H TR 811 31T Iold g4 BT S Bid1 & I8 fopaT BT HI= A1 Uer 82
Options :

1. % 3O SYH

2. % JgRIgD

3. ¢ Idd 9IY®

4. % HOaEiy®

Question Number : 89 Question Id : 518120490 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
TH AT | - T I | B T BT 82
Options :

1. % Hd PpId

2. % YidwehTe

3. ¢ IAHE DI

4. % QU A

Question Number : 89 Question Id : 518120490 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
TACEAd & |' - ST a1 H I T BT 82
Options :

1. #® Hd hId

2. % YiI=gHIe

3. ¢ GAHM BT

4. % qufad

Question Number : 90 Question Id : 518120491 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25

"YRA' Yeg Y &1 faRIvor gfAu|
Options :

1. % YRJAY

2. ¢ URAM™

3. % YRAHAT

4. % YRAaR

Question Number : 90 Question Id : 518120491 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
YR Tsg F &1 fa=Iyor gig|
Options :

1. ® YRAJY

2. ¥ HRdA™

3. % YRJHIIT

4. % YRAR

Question Number : 91 Question Id : 518120492 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
frafefad o @ =R o1 fadm wse gfu|
Options :

1. % JU=3d

2. # MR

3. ¢ ST

4, % SITRU

Question Number : 91 Question Id : 518120492 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25
frafefed o @ =R o1 fadm wse gl
Options :

1. % JU=5d

2. # MR

3. ¢ ST

4, % SITRU

Question Number : 92 Question Id : 518120493 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
fafad o @ &9 91 9190 ¥ e [®HTa &1 3Tl /2
Options :

1. * B9 Orelf & o STern B |

2. ¢ qH A A H IS |

3. % qH 3fTd o § Uedl

4. % QO TR

Question Number : 92 Question Id : 518120493 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
FafRad o 9 &F 91 a1 Bq 3qHS [ASIHTA° BT IGIEIUI 52
Options :

1. % 89 Qell § Ul STer g |

2.« qH M N H TS |

3. % gH 3TA A1 H Tear

4. % QO TIRAT R

Question Number : 93 Question Id : 518120494 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



3T B HidTs T TR ford Tar BT gt 31 Had Rl 82
Options :

1. ® ool el

2. % ool IR 1Y Al

3. % ool g I T

4. ¥ FHeloll YTHHAT

Question Number : 93 Question Id : 518120494 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

3T DI HIGTS H TR fhd HeTar FT Tat 3 Tad Hal 82
Options :

1. % Sefoll el

2. % Shetol IR 91U dle

3. % THarol 4e Bl AT

4. HASI YTAAT

Question Number : 94 Question Id : 518120495 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
fopr area o foan srav s Bl 82
Options :

1. % H[ddlY

2. % Hgard

3. % HUarA

4. % HUOT I

Question Number : 94 Question Id : 518120495 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

forg area § fopan srptih gl 82



Options :

1. ¢ HIadIg

2. ® Har

3. % PHHdA

4. % BT TN

Question Number : 95 Question Id : 518120496 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Froffed & 9 S 91 Wea TUH &1 yaigar 82
Options :

1. ¢ fafRry

2. % ThR

3. % gged

4. % fagiy

Question Number : 95 Question Id : 518120496 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Fofifad 7 3 o1 91 e YU &1 waigars 82

Options :

1. ¢ fafRry

2. % BDHR

3. % ggad

4. % fachy

Sub-Section Number : 2

Sub-Section Id : 51812011
Question Shuffling Allowed : Yes

Question Id : 518120497 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension Questions :
No



Question Numbers : (96 to 100)

TRITRI I ATFYa® Ug 3R [T Y U4l o1 98! SaR < |

UTg: A4 § 31T & [ Hiadr 1 I AR 8 | R ST o 81 SFd § Shidal &1 Sifad aed ST & Wi Ul &1 Tefianor aid
3% 1Y A gad H1 YTHOT VI § | S TTHR IR & RIM R Had RS $I geb] 30 M- IGHR Sl HAdl b1 UeH-Urs+
g7 fIaR #d 8 9 IR H €1 78 SHaTa Ue & THMF g | AR 98 Xfad g R SiadT Sig=1 gHTa S & fore a9 &1 ferag il &t
R T el &, 38 S8R IR H 781 &l

T D1 ST BT, I G T MG Ug a6 Al HiadT BT Hferd @& 11 S <) Hidal B bad [aar & It §5 | )Rg AT Dl
HE APl § 1o areieh T8 G 3R Jaiiar T8 Had A $Had 31 5! SH®: 4H a1 f A &1 THg Fier &1 T 3T WeRT Hd
STRRTT? 1 39 TR Plg I DT 9 U Ve, & 1Y FHe-1 USdl & [ 9gd &1 T g I a1 widar I faary o aredt g0 s 3g
g1 &t & Qfdera & wfa @t Al ToTeil-AeRISTSH &t SR ST B & fole g 3 oird 1

Sub questions

Question Number : 96 Question Id : 518120498 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
TRITRT T Faiiers Iuged My o1 g2
Options :

1. % ARG

2.« Hiddl

3. ® Y[au&

4. % HATUE

Question Number : 97 Question Id : 518120499 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
By BT Faifiis Iuge He ST 12
Options :

1. % 9 & faiqici &l S8

2. % QNN DT HARGH Bl

3. ¢ S & HITHD Uall BT Tdelihur B
4. % S o HINT fqeRyc b1 feer



Question Number : 98 Question Id : 518120500 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Jfaera & w3 Temsi & g8l i T &1a &2

Options :

1. % JSMS{- ARSI T RS ® & oy

2. ¢ ST -ARISISA & HTHITAT Toid B o g

3. % oS- AeRSN3fl &1 g B & fau

4. % JSMSH- ARSI &I THIS &1 FHWT I 3faTd BRI & [

Question Number : 99 Question Id : 518120501 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fofefad § ¥ o 1 Ay Hiadr »t te faRivdar 18Y g Tnfee?

Options :

1. % FARSH HAT

2. % g HHMAEI

3. % U &I f[aEfSd ST

4. ¥ HUI-TIGd Dl GG BT

Question Number : 100 Question Id : 518120502 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
JAE A IS foata faan g2
Options :

1. % PHad YHY hlc o feU|

2. % DHde B Bl SR H & forw|
3. ¢ QNI I Yag-1=iTel - o ferg|

4. % &ac faeRydr &1 guf A & fer

Question Id : 518120497 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension Questions :
No



Question Numbers : (96 to 100)

TRITRI I ATFYa® Ug 3R [T Y U4l o1 98! SaR < |

UTg: A4 § 31T & [ Hiadr 1 I AR 8 | R ST o 81 SFd § Shidal &1 Sifad aed ST & Wi Ul &1 Tefianor aid
3% 1Y A gad H1 YTHOT VI § | S TTHR IR & RIM R Had RS $I geb] 30 M- IGHR Sl HAdl b1 UeH-Urs+
g7 fIaR #d 8 9 IR H €1 78 SHaTa Ue & THMF g | AR 98 Xfad g R SiadT Sig=1 gHTa S & fore a9 &1 ferag il &t
R T el &, 38 S8R IR H 781 &l

T D1 ST BT, I G T MG Ug a6 Al HiadT BT Hferd @& 11 S <) Hidal B bad [aar & It §5 | )Rg AT Dl
HE APl § 1o areieh T8 G 3R Jaiiar T8 Had A $Had 31 5! SH®: 4H a1 f A &1 THg Fier &1 T 3T WeRT Hd
STRRTT? 1 39 TR Plg I DT 9 U Ve, & 1Y FHe-1 USdl & [ 9gd &1 T g I a1 widar I faary o aredt g0 s 3g
g1 &t & Qfdera & wfa @t Al ToTeil-AeRISTSH &t SR ST B & fole g 3 oird 1

Sub questions

Question Number : 96 Question Id : 518120498 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
TRITRT T Faiiers Iuged My o1 g2
Options :

1. % ARG

2.« Hiddl

3. ® Y[au&

4. % HATUE

Question Number : 97 Question Id : 518120499 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
By BT Faifiis Iuge He ST 12
Options :

1. % 9 & faiqici &l S8

2. % QNN DT HARGH Bl

3. ¢ S & HITHD Uall BT Tdelihur B
4. % S o HINT fqeRyc b1 feer



Question Number : 98 Question Id : 518120500 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Jfaera & w3 Temsi & g8l i T &1a &2

Options :

1. % JSMS{- ARSI T RS ® & oy

2. ¢ ST -ARISISA & HTHITAT Toid B o g

3. % oS- AeRSN3fl &1 g B & fau

4. % STSN-HERTSISAT Dl THIS I JHIT H AT BRI & [old

Question Number : 99 Question Id : 518120501 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

FafaRad & I &I 91 fadhed FHidar o Ue fa=var 11 g+ afey?
Options :

1. % ARG BT

2. % Y DH

3. % A DI fa=ifed B

4. ¥ HUI-TIGd Dl GG BT

Question Number : 100 Question Id : 518120502 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
et 3 o R R
Options :

1. % PHad YHY hlc o feU|

2. % DHde B Bl SR H & forw|
3. ¢ QNI I Yag-1=iTel - o ferg|

4. % &ac faeRydr &1 guf A & fer




Disciplinel

Group Number : 6

Group Id : 5181208

Group Maximum Duration : 0

Group Minimum Duration : 0

Show Attended Group? : No

Edit Attended Group? : No

Break time : 0

Group Marks : 20

Is this Group for Examiner? : No
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Section Marks : 20
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Question Shuffling Allowed : Yes

Question Number : 101 Question Id : 518120503 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which one of the following operation can NOT be performed on lathe machine?
Options :

1. ® Knurling

2. % Boring



3. ¥ Treppaning
4. ® Turning

Question Number : 101 Question Id : 518120503 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Fofifad 7 3 o1 91 U H1 oY 7R R 81 51 9ol 52
Options :

1. # AfHT (Knurling)

2. % ST (Boring)

3.¢ E’ﬁﬁﬂ (Treppaning)

4. ® ﬁT(Tuming)

Question Number : 102 Question Id : 518120504 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
uses non-consumable type of electrode.
Options :
1. # Metal inert gas welding
2. % QGas tungsten arc welding
3. ® Submerged-arc welding
4. ® Shielded metal arc welding

Question Number : 102 Question Id : 518120504 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
TR-SUHIST (non-consumable) UHR & SAGEIS BT IUUNT Bl g

A

Options :

1. % 1q 3ffehg T AfcET
2. T e 3 AT
3. % JgHSS 3% dfeaT]




4. ® 3TN YT BT 31T TS

Question Number : 103 Question Id : 518120505 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which one of the following bolt consists of only cylindrical shank threaded at both ends?
Options :

1. % Hook

2. % Eye

3. ¢ Stud

4. ¥ Hexagonal

Question Number : 103 Question Id : 518120505 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
mﬁ@m@?ﬁﬁmwmw(threaded)awwm%?
Options :

1. ®* §P (Hook)

2. % 38 (Eye)

3. ¥ IS (Stud)

4, ® Erc:ﬁw (Hexagonal)

Question Number : 104 Question Id : 518120506 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
is used for turning a nut or for holding bolt head while the nut is being screwed on or off the bolt.
Options :
1. * Washer
2. % Spanner
3. % Screw

4. % Bolt



Question Number : 104 Question Id : 518120506 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
B ITINT T BT WRIGH (turning) TT I B diee H [T A1 8¢ B & THT diee & XY P UH S o forg frar i g
Options :
1. ® 9IER
2. ¢ WR
3. % &b
4. % §icc

Question Number : 105 Question Id : 518120507 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
is the intentional difference between the maximum material limits of the two mating parts.
Options :
1. ¥ Allowance
2. % Tolerance
3. % Limit
4. ® Fits

Question Number : 105 Question Id : 518120507 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

awqﬂﬁﬁwm?ﬂm(material limit)$a)[aﬂ'lﬁ-lmﬂw aﬂT%I
Options :

1. ¢ 33 (Allowance)

2. % E’W(Tolerance)

3. % AT (Limit)

4. % fthad (Fits)




Question Number : 106 Question Id : 518120508 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Micrometer measuring faces are tipped with tungsten carbide
Options :

1. #* to tighten the workpiece properly

2. % to avoid parallax error

3. ¥ to prevent rapid wear

4. # to get the reading clearly

Question Number : 106 Question Id : 518120508 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

, HISShIHICR & HIUD Heldh] Bl e BIass I 377 IV (tipped) fHa1 ST B
Options :

1. % JHUNT &I 3l I Ha- & fag

2. % WZ’% (parallax error) 3§94 & forg
3.¢?ﬂaﬁﬁm(rapidwear)ﬁﬁﬁ$m
4. % Ug- &I WY ¥ Y U B & g

Question Number : 107 Question Id : 518120509 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The non-dimensional number which differentiates a laminar flow from turbulent flow is:
Options :

1. ¥ Reynolds number

2. # Froude number

3. % Mach number

4. % Knudsen number

Question Number : 107 Question Id : 518120509 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25

3T YaT8 | TH AR UdTE B S1QT B aTel TR-STTHT TedT 31 82
Options :

1. ¢ TSy e

2. % I3S I

3. % I

4. % SO G

Question Number : 108 Question Id : 518120510 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Buoyant force depends upon the:
Options :

1. # Surface tension

2. % Position of the CP

3. % Mass of displaced liquid

4. # Viscosity of liquid

Question Number : 108 Question Id : 518120510 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
SIS I R R #Rar gl
Options :

1. ® gy d-g

2. % 1. 1. (cp) @1 fRufd

3. ¢ IR % BT gogHH

4. % gd DI M

Question Number : 109 Question Id : 518120511 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



Which one of the following operation can NOT be performed by drilling maching?
Options :

1. ¥ Tapping

2. % Reaming

3. % Spot facing

4. ¥ Knurling

Question Number : 109 Question Id : 518120511 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafoad § o9 a1 o {3 =i gRT 8 81 Ipar 82
Options :

|, % 2ft (Tapping)

2. % RfHT (Reaming)

3. % Wie BT (Spot facing)

4. ¢ Afet (Knurling)

Question Number : 110 Question Id : 518120512 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following operation can be used to make a cone shape enlargement of the end of a holes?
Options :

1. ¥ Countersinking

2. % Boring

3. % Reaming

4. # Lapping

Question Number : 110 Question Id : 518120512 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

ﬁmﬁ@mmmwmn%ﬁ$ﬁ$wmﬁh(enlargement)%ﬁ*l'qm\?ﬂwg?

Options :



1. ¢ PIICRIABIT (Countersinking)
2. % FIR (boring)

3. % RFT (reaming)

4. ® aﬁ'ﬁ(lapping)

Question Number : 111 Question Id : 518120513 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In dimensioning, DIA 12 DEEP 20 indicates:

Options :

1. ¥ 12 mm diameter of hole and 20 mm depth of drilled hole
2. % 20 mm diameter of hole and 12 mm depth of drilled hole
3. % 12 mm diameter of hole and 20 mm fillet on drilled hole
4. % 20 mm diameter of hole and 12 mm fillet on drilled hole

Question Number : 111 Question Id : 518120513 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

farie (dimensioning) T, DIA 12 DEEP 20 ARG
Options :

1. ¢ &% BT 12 mm N 3R B fvg 31 20 mm TERTE

2. % 5% 120 mm N 3R % B BT 12 mm TR

3. # ﬁéﬁmlzmmmaﬁ?%@ﬂﬁé‘daﬁzommﬁqﬁw

4, % %_;{WZOmmWﬁT%ﬁﬂmaﬁImeﬁm

Question Number : 112 Question Id : 518120514 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In thread designation, SQ 28 % 8 where SQ represent:
Options :

1. ¥ Square thread



2. * Acmre thread
3. * Buttress thread
4. % Worm thread

Question Number : 112 Question Id : 518120514 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

IS gaq (thread designation) SQ 28 x 8 ﬁ, SQ ®I F=iUd Sl %I
Options :

1. ¥ TR US (Square thread)

2. % TER US (Acmre thread)

3. % O IS (Buttress thread)

4. % gHYS (Worm thread)

Question Number : 113 Question Id : 518120515 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following process is used for surface finishing purpose?
Options :

1. % Boring

2. % Broaching

3. ® Hobbing

4. ¥ Honing

Question Number : 113 Question Id : 518120515 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fafafea o I fg uftrar &1 IUTT Tag! URSHRT (surface finishing) & 3520 & forg favaT ST g2
Options :

1. % qifT (Boring)

2. % S (Broaching)



3. % EﬁT(Hobbing)
4. ¥ G- (Honing)

Question Number : 114 Question Id : 518120516 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Quick return mechaism is associated with:
Options :

1. # Lathe

2. ¥ Shaper

3. % Milling

4. # Drilling

Question Number : 114 Question Id : 518120516 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

ad PRIICIR PGl (Quick return mechanism), Y T&fda % |
Options :

1. % WY (Lathe)

2. W(Shaper)

3. % fOfeiT (Milling)

4. % TS (Drilling)

Question Number : 115 Question Id : 518120517 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Wringing of slip gauges is used in:
Options :

1. # Line measurement

2. % Primary measurement

3. % Both line and end measurement



4. ¥ End measurement

Question Number : 115 Question Id : 518120517 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
%W%W(Wﬁnging)mmﬂ AT gl
Options :

1. % g HIGA

2. % U AT

3. % T3 R RRT A0, <1

4.« RR1A0A

Question Number : 116 Question Id : 518120518 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following statement is NOT a Correct statement about the thermodynamic property?
Options :

1. # Specific volume is an intensive property

2. ® Pressure is an intensive property

3. ® temeperature is an intensive property

4. ¥ volume is an intensive property

Question Number : 116 Question Id : 518120518 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
frafafad # 9 & 91 Sy, SRS 101 & a4 H Tat T8l 82
Options :

1. % ff3Ip 3mgd TP T Ul §

2. % G4 UH U9 01§

3. % AU U 99 0T §

4. ¢ 3fTOT Th HYH U1 &




Question Number : 117 Question Id : 518120519 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following cycle is also called as Constant volume cycle?
Options :

1. # Carnot cycle

2. % Joule cycle

3. ® Diesel cycle

4. ¥ Otto cycle

Question Number : 117 Question Id : 518120519 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafaRad & 3 fd 9 & RR smaa- a9 1 &gl AT 82
Options :

1. ® BMHIC g (Carnot cycle)

2. ® J[d déh (Joule cycle)

3. % @W%(Diesel cycle)

4. ¢ 3licl I% (Otto cycle)

Question Number : 118 Question Id : 518120520 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following statement is TRUE in case of a planner machine?
Options :

1. # Both tool and work reciprociate.

2. % Tool is stationary and the workpiece is reciprocates.

3. % Workpiece is stationary and the tool is reciprocates.

4. % Both tool and work stationary.

Question Number : 118 Question Id : 518120520 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25

TR AR & A B FafaRad O 9 &9 91 $3F 9 @ 82
Options :

1. % 2d 3R &1 gl RN gId B

2. ¢ A TRR A1 8 3R ah U IRWUNS g |

3. % gHUN fRR BT § 3R ¢d URWR® g |

4. % T AR PR g RR B 5|

Question Number : 119 Question Id : 518120521 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In hydraulic shaper machine, speed of forward stroke is the speed of return stroke.
Options :

1. #® equal to

2. % greater than

3. ¥ less than

4. ® may be grater or less depend on design requirement of workpiece

Question Number : 119 Question Id : 518120521 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

g2l AW (BTESIferd TATae & 1Y) H, ST Wi BI I1d Ui T &1 ard HGIE
Options :

1. % & RR

2. % Y 3fh

3.V A HH

4. % THUN Bt {Some Tael sensif & AR Sifid a1 HH gl Tdbd o

Question Number : 120 Question Id : 518120522 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25

A beam is said to be fixed beam, if

Options :

1. ¥ both ends of beam are rigidly fixed

2. % both ends of beam are roller supported
3. % one end is fixed and other end is free
4. % both ends are free

Question Number : 120 Question Id : 518120522 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

ot 4R 1 R 4R TS BT ST §, A |
Options :

1. ¢ $RA S gl RRI B HARAT Y §G fbar T g

2. % R P G RR AR JARIT &

3. % 6 RRTTg 8 SRR R g &

4. % gAIRR G §
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Question Number : 121 Question Id : 518120523 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The smallest circle drawn to the pitch curve from the centre of rotation of cam is known as
Options :

1. ¥ Prime circle

2. # Pitch circle

3. # Face circle

4. % Pitch curve

Question Number : 121 Question Id : 518120523 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

U & YUH & 6% I SHdRId ah db Wi a1 T Jad BieT ga & ®g H TET ST g |
Options :

1. ¥ Hd gd (Prime circle)

2. % 3{RTd 9d (Pitch circle)

3. ¥ HY gd (Base circle)
4. % 3{dRTd deb (Pitch curve)




Question Number : 122 Question Id : 518120524 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Smallest circle drawn to the cam profile from the center of rotation of radial cam is known as
Options :

1. # Prime circle

2. # Pitch circle

3. ¥ Base circle

4. % Pitch curve

Question Number : 122 Question Id : 518120524 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fETE B b UM P e F HH UThIga e @i 11 e BIT ERSCECIEICIGI
Options :

1. ® Hd gd (Prime circle)

2. % 3R gd (Pitch circle)

3. ¢ 3HIYR g (Base circle)

4. % 3{dRTd deh (Pitch curve)

Question Number : 123 Question Id : 518120525 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

is a metal joining process in which two or more parts are joined or coalesced at their contacting surfaces by suitable application of heat
or/and pressure.

Options :

1. # Riveting
2. ¥ Welding
3. % Casting
4. # Forging



Question Number : 123 Question Id : 518120525 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
UH YT SIS &1 Ufehan & Foraw g1 ar &l  3iferes Wit 7 a1/3iR gaTd & SUgad AN gRT 3! AUdh Ida! IR IS 8id & al
SERCIGES
Options :
1. % fafET (Riveting)
2. ¢ AfET (Welding)
3. % W%T(Casting)
4, ® tI’T\IJ_\"i%Fin(Forging)

Question Number : 124 Question Id : 518120526 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Plastic deformation of the metals below the recrystallization temperature is known as
Options :

1. ¥ Cold working process

2. # Hot working process

3. # Warm working process

4. # Joining process

Question Number : 124 Question Id : 518120526 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

T foheeclianRur d1u ¥ &1 WR urgsii & gaed fa=uur (Plastic deformation) &1 ARG
Options :

1. ¢ PIcs afdsT ufehan

2. % gle afdw ufchar

3. % g afch 1 ufshan

4. % SIS Ufcha




Question Number : 125 Question Id : 518120527 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
In NC codes, Dwell is defined by:
Options :

1. ® GO1

2. % G02

3. % GO3

4. ¥ G04

Question Number : 125 Question Id : 518120527 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

AL (NC) B8 |, §ad (Dwell) SRT IR fpar g |
Options :

1. ® GO1

2. % G02

3. % GO3

4. ¥ G04

Question Number : 126 Question Id : 518120528 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
test is carried out to check the toughness of material.
Options :
1. ¥ Izod test
2. * Tensile test
3. % Shore test
4. * Rockwell test

Question Number : 126 Question Id : 518120528 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25

et uerd ot HERdl ) i & foru giar g |

Options :

1. ¢ 3MTZSIS URI&Ul
2. % I TRI&I0T

3. % QR Ue(0

4. % ADhdd W&

Question Number : 127 Question Id : 518120529 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which one of the following machine is used for tesile test of material?
Options :

1. ¥ Universal testing machine

2. # Floating carriage diameter machine

3. % Pin on disc apparatus

4. ¥ Impact testing machine

Question Number : 127 Question Id : 518120529 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Foffad 7 3 fooa w=ia &1 Sua uard & a7+ uierr & fore fbar S g2
Options :

1. ¢ I uteror 7=

2. % T B o TRfA

3. % fO 311 & IuHUI

4. % TG G407 HRH

Question Number : 128 Question Id : 518120530 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



Tacho generator is a electromechanical device directly used to measure
Options :

1. % Position of the motor

2. % Speed of the motor

3. # Acceleration of the motor

4. % Pulse on and off time of machine

Question Number : 128 Question Id : 518120530 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

<! S+, faggd Fifis USRI &, FoIdhT SUa Udel U 9 A & g BT B
Options :

1. % AR ot R

2. ¢ iR DI 1A

3. % TR BT @Rl

4. % 7= &1 IR 3 3R 3T Jry

Question Number : 129 Question Id : 518120531 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A device which provides a usual output in response to a specified measurand is known as
Options :

1. ¥ Sensor

2. # Display

3. % Signal conditioning

4. # Intelligence

Question Number : 129 Question Id : 518120531 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

98 ISR g, SNl S A9 &Y Sfohar & g 3M3cye U HRdl g |

Options :



1. ¢ W

2. ® f3@

3. % fqud Herf
4, ® gcforolg

Question Number : 130 Question Id : 518120532 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
In Method study, === symbol is used for:

Options :

1. # Operation

2. % Transportation
3. # Delay

4. ¥ Storage

Question Number : 130 Question Id : 518120532 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fafer sremaa (Method study) H, == iR &7 39IT F T aar g
Options :

1. % W(Operation)

2. ¢ URagd (Transportation)

3. % {dqid (Delay)

4, % EﬁTﬂ(Storage)

Question Number : 131 Question Id : 518120533 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
In CNC codes, GO1 indicates
Options :



1. # Rapid travel
2. # Clockwise interpolation
3. % Linear interpolation

4. # Counterclockwise interpolation

Question Number : 131 Question Id : 518120533 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

e (eNo) PIS H, Gol CAkNIGIE]
Options :

1. % IR YHUT

2. % GfEomad sfadeH

3. ¢ W 3fddvH

4. % QAT iddRH

Question Number : 132 Question Id : 518120534 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

HSS tool is used to machine 20 mm diameter steel shaft, at spindle a speed of 1000 revolutions per minute. What is the cutting speed?
Options :

1. # 1 mm/min

2. % 20 © m/min

3. % 20 n mm/min

4, % 1 m/min

Question Number : 132 Question Id : 518120534 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

&g R Ufd e 1000 THR Pt A1 T HSS A BT IYTNT 20 mm AT 9T Wi M TR {01 ST €| T a1 1 D |
Options :

1. ¥ 7 mm/min



2. % 20 m m/min
3. # 20 T mm/min

4. % 7 m/min

Question Number : 133 Question Id : 518120535 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

type of maintenance approach in which equipment is allowed to function / operate till no failure occurs that no maintenance work is
carried out in advance to prevent failure.

Options :

1. # Predictive

2. # Preventive
3. % Breakdown
4. # Capital

Question Number : 133 Question Id : 518120535 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

YHR & TERATT VDI T JUBN 61 e db BT DR/ B B SIFHS SIchl & 5d I fob B [Awharan 7 Y, 3R forad
A adT B Adh & ATl Dls SREU BT HH U J 781 fpar ST g |

Options :

1. % YIORID
2. % FRIUTHS
3. ¥ SHS3
4. % Hfoed

Question Number : 134 Question Id : 518120536 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
In concept of reliability in maintenance, Bath tub curve indicates
Options :

1. # assurance



2. ¥ failure probability
3. #* water indicator

4. # to stop machine

Question Number : 134 Question Id : 518120536 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

RERETA B {1l BT YR H, §1Y T doh &1 3RTd PRaAT 5|
Options :

1. % 3=ORY (Assurance)

2. ¢ TdWoIdl WIehdT (Failure probability)

3. % 9Ic] YD (Water indicator)

4. % TRIA A

Question Number : 135 Question Id : 518120537 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
In computer system, Track ball is
Options :

1. ¥ Input device

2. % Output device

3. % CPU

4. % Part of hard disk

Question Number : 135 Question Id : 518120537 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
TR A d ewaid 3
Options :

1. ¢ gYc fgargy

2. % 3T3CYC fgargy




3. % WUy, (cru)
4. % 13 &% &1 UM

Question Number : 136 Question Id : 518120538 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Point M (0, 50) can be seen being rotated about the origin through an angle, 8 = 900, in the anti-clockwise direction to position N. The co-
ordinates of N will be:

Options :

1. # (0,50)
2. % (-50,0)
3. % (0,-50)
4. % (-50,-50)

Question Number : 136 Question Id : 518120538 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

N Pt fufa & amrad fe=m #, f&ig M (0, 50) Y BT, 9 = 900 J H fig & FMope THA §T AT ST Wb | N & e =ul
Options :

1. % (0,50)

2. % (-50,0)

3. % (0,-50)

4. % (-50,-50)

Question Number : 137 Question Id : 518120539 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
type of flaws that can not be inspected using Liquid Penetrant Testing.
Options :
1. # Fatigue craks
2. ¥ Interal cracks
3. # Porosity



4. % Quench cracks

Question Number : 137 Question Id : 518120539 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

, TP YR ! Ffeai §, oma fafds 9ace wiem &1 IuanT sras e 78t o o w1

Options :

1. % gifg =R

Question Number : 138 Question Id : 518120540 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following is NOT related with flexible manufacturing systems?
Options :

1. # Ability to produce varied quantities

2. ® Ability to produce wide variety

3. ¥ Using special purpose machines

4. ® Abilty to produce wide variety and varied quantity

Question Number : 138 Question Id : 518120540 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fraforaa § @ o a1 7w fafmior yomeh 3 Teifia T8 22
Options :

1. % faf¥rs O & I B B &l

2. % {3 UHR BT IUTG B B! &l

3. ¢ faRIY Uaior ORfAl &1 IUTNT BT
4. % fOgd UBHR 3R fAfirs A Iadre & P &l




Question Number : 139 Question Id : 518120541 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

FMS is best suited when

Options :

1. ¢ all products use same family of components

2. % all products use different family of components
3. # number of component is low

4. ® number of component is high

Question Number : 139 Question Id : 518120541 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TH.TH.TY. (FMS) 989 U gidT &, oid |
Options :

1. ¢ gt STl H ged! & JHM JUN &1 STANT glaT §
2. % gt Iarel § gt & fafts guft &1 S gt @
3. % Ycdh o) TS HH gl §
4. % Yo DI =T I gldll &

Question Number : 140 Question Id : 518120542 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The long form of ATC that is commonly used in the context of material handling system is
Options :

1. ¥ Automatic Tool Correction

2. ¥ Automatic Tool Changing

3. ¥ Automated Tool Compensation

4. ® Automated Tool Coding

Question Number : 140 Question Id : 518120542 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
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Options :

4. % JHlC] cd pllST]
Discipline3
Group Number : 8
Group Id : 51812010
Group Maximum Duration : 0
Group Minimum Duration : 0
Show Attended Group? : No
Edit Attended Group? : No
Break time : 0
Group Marks : 20
Is this Group for Examiner? : No
Discipline3
Section Id : 51812012
Section Number : 1
Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 20
Number of Questions to be attempted : 20
Section Marks : 20
Enable Mark as Answered Mark for Review and Clear Response : Yes

Sub-Section Number : 1



Sub-Section Id : 51812014
Question Shuffling Allowed : Yes

Question Number : 141 Question Id : 518120543 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Automatic Guided Vehicle System (AGVS) is a materials handling system that uses operated, vehicles that are guided
along defined pathways in the floor.

Options :

1. ¥ independently; self-propelled

2. % dependently; human-propelled
3. # independently; human-propelled
4. % dependently; self-propelled

Question Number : 141 Question Id : 518120543 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Tnferd FE R arg el (@sh &t ), Treeh vee gomeht B, R Tferd, qTeH T IUANT ghaT &, S YAy |
feffed ot & g R g |

Options :

1. JWW@,W‘%’H

2. # R =0 9, g4 =1ferd
3. % Wdd &7 Y; AMFG dferd
4. % MR U9, Warferd

Question Number : 142 Question Id : 518120544 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Supply chain integration is strategic in nature and has two components .
Options :

1. ¥ Collaboration and Interoperability

2. % Collaboration and Allocation



3. # Interoperability and Allocation

4. # Interoperability and Synchronization

Question Number : 142 Question Id : 518120544 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

3MYfef R TepahRu Uehfar o gfaagul 81aT § 3R 39% <1 Ued §1d &

Options :

1. ¢ g1 3R URWRHT
2. % FghId IR fafFem
3. % URWNGAT 3R fafFaem

4. % URIUNGAT 3R JulATdHdl

Question Number : 143 Question Id : 518120545 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In a supply chain, if there exists a collaboration at inventory level, but not at planning level, then it is called
Options :

1. # Collaborative Planning and forecasting

2. # Synchronized supply chain

3. # Traditional supply chain

4. ¥ Vendor managed inventory

Question Number : 143 Question Id : 518120545 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

3Tgfct 4t H, e ATfern] TR IR DIs gD Bidl 5, AT JroTT W) O -Tg! gidl, df 34 EHEIGIE
Options :

1. % TEHAIED Ao 3R GargHH
2. % HBICID Y[ F@ar
3. % URUNS Y gaa




4. « Taohdt yaferd ATeRg=

Question Number : 144 Question Id : 518120546 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

is the integration of the total manufacturing enterprise through the use of integrated systems and data communications coupled
with new managerial philosophies that improve organizational and personal efficiency.

Options :

1. ¥ Coputer Integrated Manufacturing
2. % Design for Manufacturing

3. # Design for disassembly

4. % Design for Assembly

Question Number : 144 Question Id : 518120546 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
, Uhighd TOTTerd 3R ST YR & IUTNT & HIeqH ¥ ot [AfHT01 ITH &7 THIhRul § Sl I3 UeUH 1T fIaReRT & 91y
AR ST SR TG G&dl H YR Rl 6|
Options :
1. ¥ HER UDhIhd IdIGH
2. % IdTe & forg fewmgA
3. % fegardddit & feorw fewme
4, % 3qcl & forg fesmeA

Question Number : 145 Question Id : 518120547 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A manufacturing system in which the sequence of processing operations is fixed by the equipment configuration is known as
Options :

1. ¥ Fixed automation

2. % Programmable automation

3. #* Flexible automation



4. % Universal automation

Question Number : 145 Question Id : 518120547 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

, 98 ITe YUITelt 8, Foras Iu vl fa=amg gRT URIResUT Tamei 1 ohH (HufRd forar Sar g |

Options :

1. ¢ T} e

2. % UMY gy e
3. % T g9

4. % FIGAE TaETed

Question Number : 146 Question Id : 518120548 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The workpiece in Electron beam machining is held in
Options :

1. % Open air

2. % Vacuum

3. # Dielectric medium

4. % Eletrolyte

Question Number : 146 Question Id : 518120548 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
gaagi- oy ARAT o b &1 o 3@ S g

Options :



Question Number : 147 Question Id : 518120549 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Choose CORRECT option for EDM process.
Options :

1. ¥ Burr free

2. % Capable of producing sharp corners

3. % Not useful for hard metals

4. % Direct contact machining

Question Number : 147 Question Id : 518120549 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
3.S1.UH. (EDM) UfshadT & fore |8 fased g |
Options :

1. RgH

2. % & Bl BT IATGH HRA | &

3. % FHAR urgaf & foe Iuanf =gt

4. % Ygal Yucb HRAFT

Question Number : 148 Question Id : 518120550 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

is an effective system of integrating the quality development, quality maintenance and quality improvement efforts of various groups
in an organization so as to enable marketing, engineering, production and service at the most economical levels which allow for full customer
satisfaction.

Options :

1. ¥ Total Quality Management
2. % Kaizen

3. % Six sigma

4, % Just in time



Question Number : 148 Question Id : 518120550 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. ¢ Frguf Tura UeYH
2. ® DI

3. % oy R

4, % S 3 CT3H

Question Number : 149 Question Id : 518120551 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
The degree of reaction of an impulse turbine
Options :

1. % is less than zero

2. % is greater than zero

3. % is equal to zero

4. # increases with steam velocity at inlet

Question Number : 149 Question Id : 518120551 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Th 3147 x5 1 Ufdfshan o1 feui
Options :

1. % I HAg

2. % I Y B

3. ¢ YA SRR

4. % JAY gR W HIU & I & I1Y Sl §



Question Number : 150 Question Id : 518120552 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
of steam tubine is done to reduce turbine speed.
Options :
1. # Complexing
2. ¥ Compounding
3. # Both complexing and compounding

4. ® Either complexing or compounding

Question Number : 150 Question Id : 518120552 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

XA B! AT Y B P (oY T H THSA Bl foaT ST 5|
Options :

1. % DI

2. HURSIET

3. % HIARNT 3R HURSTET S

4. % g1 Al HIEARIT T A HUTIFET

Question Number : 151 Question Id : 518120553 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
The point where the resultant of all the horizontal and vertical forces including parasitic forces act on a tractor drawn implement is known as

Options :

1. ¥ Centre of resistance
2. # Virtual hitch point
3. % Centre of gravity

4. ® Acceleration due to gravity



Question Number : 151 Question Id : 518120553 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Bﬂ;ﬁﬁw 8T I &, ST81 UR TRISRT el (parasitic force) Tfed TuT & 3R Sreafer F@ & uRumdt, Saex ¥ Wid SH ardd ST
R BT B 82

Options :

1. ¢ UfeRIY T b

2. % YR e fofg

3. % TBATHY hg

4. % THATHYU] & BHRU[ @R

Question Number : 152 Question Id : 518120554 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The angle between the axis of gang and the line perpendicular to the direction of motion is
Options :

1. % Disc angle

2. % Tilt angle

3. ¥ Both Disc angle and Tilt angle

4. ¥ Gang angle

Question Number : 152 Question Id : 518120554 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

T (gang) 1 4RI SR T B1 fo= & daad X@1 & ad B DI BT g
Options :

1. % S oo (Disc angle)

2. % fa BT (Tilt angle)

3. % &% PIu1 SR Al HIoT AT

4. ¢ AT P07 (Gang angle)




Question Number : 153 Question Id : 518120555 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

For a small scale industry, the fixed cost per month is ¥ 5000. The variable cost per product is X 20 and sale price is X 30 per piece. The break-
even production per month will be

Options :
1. % 300
2. % 460
3. ¥ 500
4. % 10000

Question Number : 153 Question Id : 518120555 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
forit g ST 1 Ul |18 F1ad amTd = 5000 B 1 U SdTE TR AFTd 20 3R Ui 01 foeh! 4o < 30 1 Ui 118 §6-89- SdTa (break-

even production) SRl

Options :
1. # 300
2. % 460
3. % 500
4. % 10000

Question Number : 154 Question Id : 518120556 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

At EOQ, which of the following statement is TRUE?
Options :

1. # Holding cost is zero.

2. # Ordering cost is zero.

3. ¥ Material cost is zero.

4. ¥ Ordering cost = Holding cost



Question Number : 154 Question Id : 518120556 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

233 (E0Q) H, Fufaied § ¥ o W Hy1 I 82
Options :

1. % YRUIANTd LA Bl B

2. % IS ANT T BIeh g |

3. % QI AT A Bl ]

4. TSI ARTA = YRl ARTA

Question Number : 155 Question Id : 518120557 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

When same scaling factor is used along both X and Y direction it is called
Options :

1. ¥ Uniform scaling

2. # Differential scaling

3. % Equilateral scaling

4. # Perpendicular scaling

Question Number : 155 Question Id : 518120557 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

SE X SR Y aF! feRmisft & TH WhieiT HRE &1 SUART 8Idl 5, 1 39 HEI A 5|
Options :

1. ¥ UHGH WhieHT

2. % SR Tl

3. % FHETG WhiciT

4. % I Whiei

Question Number : 156 Question Id : 518120558 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25
The typical cycle time for a production operation for the given data:

Processing time for the operation = 8 second, Handling time = 4 second, Tool handling time = 1 second
Options :

1. ¥ 13 second

2. % 11 second

3. % 15 second

4. % 10 second

Question Number : 156 Question Id : 518120558 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

Question Number : 157 Question Id : 518120559 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The computerized technology used for draft / design parts is known as
Options :

1. ¥ CAM

2.% CAD

3. % CIM

4. % CIMO



Question Number : 157 Question Id : 518120559 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

ST / TSSITg YT o ol ST & S dTell hrgeighd ddb-i ol HET o g |
Options :

1. ¥ CAM

2.% CAD

3. % CIM

4, % CIMO

Question Number : 158 Question Id : 518120560 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
for a given family is a hypothetical part that includes all of the design and manufacturing attributes of the family.
Options :
1. # Group technology
2. % FMS
3. ¥ Composite part
4. % Assembly part

Question Number : 158 Question Id : 518120560 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fopeft fou g ufkar & forw TS B T g forad afkar & it fewmg= iR fmtor 1qor =nfire gid g
Options :

|. % gUG db-id

2. % FMS

3. ¢ SHUIfIC YT

4. % RS HAT

Question Number : 159 Question Id : 518120561 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25
A collection of parts that are similar either by geometric shape and size or in processing steps required in their manufacture is known as

Options :

1. ¥ Part family

2. % Machine family
3. % FMS

4. ® Group technology

Question Number : 159 Question Id : 518120561 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. ¥ YRT &

2. % ORI o

3. % FMS

4. % UG db-id

Question Number : 160 Question Id : 518120562 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
In ECM, electrolyte used is

Options :

1. % Kerosene

2. % Water

3. % Air

4. % Brine solution

Question Number : 160 Question Id : 518120562 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25
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Question Shuffling Allowed : Yes

Question Number : 161 Question Id : 518120563 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following material can be machined by EDM?
Options :

1. ¥ Iron

2. # Plastic

3. % Ceramic

4. % Glass

Question Number : 161 Question Id : 518120563 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
frafafied & @ & 91 uerd 3. €1.uH. (EDM) §RT A=Hidd 81 bl 82
Options :

1. ¥ YIJ

2. % WIREH

3. % RRM®

4. % B

Question Number : 162 Question Id : 518120564 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which one of the following is NOT one of the four main cycles of the supply chain?
Options :

1. ¥ Manufacturing cycle

2. ® Procurement cycle

3. ¥ Replenishment cycle

4. ¥ Payment cycle



Question Number : 162 Question Id : 518120564 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

mﬁﬁaﬁqmwﬁmm(mpply chain)%ﬂﬁﬁ@aﬁﬁawwqﬁ%‘?
Options :

1. % fafwfor =

2. % YT Tch

3. % gTWRUTI%

4.« HIdH s

Question Number : 163 Question Id : 518120565 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following is NOT a supply chain driver?
Options :

1. ¥ Promotion

2. % Inventory

3. #* Information

4. # Transportation

Question Number : 163 Question Id : 518120565 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
frafeied & @ & 91 Syfd g aree "8l 82
Options :

1. ¥ JdR

2. % HIEYE

3. % gd-T

4. % gikagd

Question Number : 164 Question Id : 518120566 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
The Quality Function Deployment (QFD) process begins with

Options :

1. # Technical design parameters

2. # Target component characteristics
3. % Quality control requirements

4. % Customer wants and needs

Question Number : 164 Question Id : 518120566 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TG e TR (QFD) Ufdhar & Y J[E gl gl
Options :

1. ® deb-ilch! [SWIg HIUES

2. % Qi&d god faivdradi

3. % T[UTaT fRIA0T I harsi

4. U5 D1 SUETST 3R STl

Question Number : 165 Question Id : 518120567 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which Statistical Process Control tool provides an accurate representation of the distribution of a continuous variable?
Options :

1. % Cause and Effect Diagram

2. # Check List

3. ¥ Histogram

4. % Pareto Chart

Question Number : 165 Question Id : 518120567 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



I T RS T UfehaT =01 T Ueh ad @R & [daRUl HI TSI (HeUUl UEH SRl 82
Options :

1. # HRE 3R YHT 3}RT
2. % Sirg It

3. ¢ 3

4. % TRCT AW

Question Number : 166 Question Id : 518120568 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Standardization of products is done to

Options :

1. # Eliminate unnecessary varieties in design

2. # Simplify manufacturing process

3. ¥ Make interchangeable manufacture possible

4. ¥ Reduce material cost

Question Number : 166 Question Id : 518120568 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

3ATG! T A bRl fHaT ST 8 |
Options :
1. % fSomed H 3Maxg® fel &l g & fau
2. % fafamior ufgsar &) IR 991 & fore
3.« IR fafHg Ao &) Syg §9F & fore
4, % Y B NI HH B P [T

Question Number : 167 Question Id : 518120569 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Consider the LP problem.



Maximize 4X1 + X2 subject to X1 + X2 < 8; 6X1 + X2 <18, X1,X2 > 0. The objective function corresponding to the optimum solution is

Options :
1. % 8
2. % 12
3. 14
4. % 0

Question Number : 167 Question Id : 518120569 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Tq. Ut (LP ) U IR foaR &%
X1+ X2<8:6X1+X2<18, X1, X2 >0 AFHT 4X1 + X2 Bl TbdH B3| TSR JHIYT P T I B gl

Options :
1. % 8
2. % 12
3. 14
4. % 0

Question Number : 168 Question Id : 518120570 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Linear Programing problem can be solved by
Options :

1. ¥ Simplex method

2. % Gantt Chart

3. # Johnson’s algorithm

4. # Both johnson’s algorithm and Gantt chart

Question Number : 168 Question Id : 518120570 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25

IS DU & g2 Bl SR1 8 fohaT ol GohaT B |
Options :

1. ¢ Rrgeiag fafy

2. % Te e

3. % ST BT ANRYH

4. % GG BT AENRYA 3R e =1 gt

Question Number : 169 Question Id : 518120571 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
and are used for horizontal & vertical movement of material in the industry respectively.

Options :

1. ¥ Monorails; conveyors
2. ®% Conveyors; AGVs

3. # AGVs; cranes

4. ¥ Crane; hoists

Question Number : 169 Question Id : 518120571 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

I vard & &fcret 3R Heafer Tae & oy sos: 3R 1IN BIaT 5|
Options :

1. ® AFR; B

2. % W; Q\_rﬁaﬁ

3. ® Q\‘:ﬁaﬁ,ﬁ

4. ¥ o, BIgE

Question Number : 170 Question Id : 518120572 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25

According to material handling principle, rehandling and back tracking of material should be
Options :

1. # Included

2. % Avoided

3. # Both included and avoided

4. % Neither included nor avoided

Question Number : 170 Question Id : 518120572 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Tt veeH fRIgid & SR, T &1 F: TeeH SR URd S
Options :

1. % Qe g1 91T

2. ¢ D1 TMGY

3. % TMMAS 3R AHT G| aIHT AMeY

4. % 9l M S §1 Ah+1 AT

Question Number : 171 Question Id : 518120573 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Detection of defect in can be done by magnaflux method.
Options :

1. % Aluminium casting

2. % Glass

3. # Plastic

4. ¥ Mild steel

Question Number : 171 Question Id : 518120573 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
YT fafer g T SN BT gdT a1 o ghdT 2 |




Options :

1. % UG-y H1ieeT
2. % BT

3. % WIe®

4. ¥ Hg Id

Question Number : 172 Question Id : 518120574 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Bimetallic can be used for

Options :

1. ¥ measurement of temperature
2. ® measurement of pressure

3. % measurement of flow

4. % measurement of volume

Question Number : 172 Question Id : 518120574 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fEUTd® (Bimetallic) BT IYTIT ¥ U g gpar gl
Options :

1. " dIUHE HI99

2. % QId HYUA

3. % Ydlg HIU-

4. % AIdT HIYT

Question Number : 173 Question Id : 518120575 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
The reading of temperature on celcius scale is 600, what is equivalent reading of temperature on Fahrenheit scale?
Options :



1. #* 130 OF
2. % 132 0F
3. ¥ 140 OF
4. % 146 OF

Question Number : 173 Question Id : 518120575 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

T YU R ATIHM TSI 600 §, BRAGIEE UHM TR dTHT &1 GHded Tadidh =1 g2
Options :

1. % 130 OF

2. % 132 OF

3.9 140 OF

4. % 146 OF

Question Number : 174 Question Id : 518120576 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Complete the following statement.

Gas cooled reactor uses as moderator.
Options :

1. ¥ graphite

2. # carbon-di-oxide

3. % Oxygen

4. #® Helium

Question Number : 174 Question Id : 518120576 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fAafeRad U 1 R A |



g ftaferd Ruger & Ais¥er & ®U H P IUART BT 5 |
Options :

R IE

2. % HIe STs S

3. % JfRIoH

4. % gifergw

Question Number : 175 Question Id : 518120577 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

For operating rotavator on trashy soil, which type of blade is most preferable?
Options :

1. % Hook type

2. % Twisted type

3. ¥ Straight blade

4. ¥ L-shaped

Question Number : 175 Question Id : 518120577 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

22ft ISt (trashy soil) TR JeTdeRr T & oY, {5 THR &1 s Srfdier dgar 8IdT /2
Options :

1. % §h YPR

2. % fgLS UDR

3. % HiyTsds

4. ¥ Q- STPHd

Question Number : 176 Question Id : 518120578 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
The front wheel of of a 2WD tractor is example of



Options :

1. # Powered wheel

2. ¥ Towed wheel

3. % Braked wheel

4. # Self-propelled wheel

Question Number : 176 Question Id : 518120578 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

2WD ¢aex &1 STel ufgar AR UES
Options :

1. % wfddanfed ufgan
2. ¥ Tlos fed

3. % 968 Ufedr

4. % Wrferd ufgar

Question Number : 177 Question Id : 518120579 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The casting process which uses rotating mold is
Options :

1. * Slush casting

2. ¥ Centrifugal casting

3. # Die casting

4. % Continuous casting

Question Number : 177 Question Id : 518120579 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
, I8 SRS ufeha g, forad gui 9 &1 Suar grar ]

Options :



1. % TR BT
2. ¢ 3Udhgl BIRET
3. % TT3 BT
4. % Tdd BT

Question Number : 178 Question Id : 518120580 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A cantilever is a beam of span 6 m with point load of 6 kN at its free end will have constant shear force throughout the span is
Options :

1. % 1kN

2. % 2kN

3.% 6 kN

4, % 36 kN

Question Number : 178 Question Id : 518120580 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

®Is TR 6 m UTE aTelt &R 7, e gad R IR 6 kN &1 fig 4R B, a3 W § f9d /a0y 5 fooa-n g
Options :

1. % 1kN

2. % 2kN

3. ¥ 6 kN

4. % 36 kN

Question Number : 179 Question Id : 518120581 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Bending moment diagram of simply supported beam when a point load (W) is acting at mid span of beam will be
Options :

1. ¥ a triangular



2. # arectangle
3. % aparabola

4. # ahyperbola

Question Number : 179 Question Id : 518120581 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

OIq U fofg YR (W) 18 & A8 YT IR H1 HR 61 81, <l AR U § JART eRA o1 dfST Hife 3RE B
Options :

1. ¢ BYSHR

2. % JdIPR

3. % IRAJIPR

4. % HfIRAAIPR

Question Number : 180 Question Id : 518120582 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Rigid parts that are arranged and connected so that they produce the desired motion of the machine is called
Options :

1. # Kinematic Link

2. # Kinematic Pair

3. % Mechanism

4. % Kinematic joint

Question Number : 180 Question Id : 518120582 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

d TG HFT ol FARYT 3R IS 81 & dTfeh d LM &1 qifesd T ST HR b, 3¢ o Hal ol 82
Options :

1. % ggfce foie

2. % YgIifdes g




3. ¢ GAaql
4. % YD NS
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Question Number : 181 Question Id : 518120583 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



The principle most commonly followed for locating workpieces in a fixture is
Options :

1. % 1-2-3

2. % 1-32

3. 3-2-1

4, % 2-3-]

Question Number : 181 Question Id : 518120583 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
, fp it PR (fixture) W 9 UG 1 UdT T & T Srcafiieh SrgaRuT fbar o aren Rigid 21
Options :
1. % 1-2-3
2. % 1-3-2
3.¥3-2-1
4, % 2-3-1

Question Number : 182 Question Id : 518120584 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In machining, Dynamometer is used for measurement of
Options :

1. ¥ Cutting force

2. % Feed

3. ® Depth of cut

4. % Speed

Question Number : 182 Question Id : 518120584 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
AT H, ST-HieR o1 I & {10 & e fopam Srar 3 |

Options :



1. ¥ HaT9d
2. % BIg
3. % e DI IS

4. % I

Question Number : 183 Question Id : 518120585 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A line AB with the end points A(2, 2) and B(5, 7) is to be moved by 5 units in x-direction and 7 units in y-direction then new coordinates of point
A will be

Options :
1. % (2,7)
2.9 (7,9)
3. % (5,2)
4. % (10, 14)

Question Number : 183 Question Id : 518120585 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

AQ2.2) R B(5,7) &gﬁﬁg (end points) TATET W BT x5 ZHT3 3Ry & 7 313 b ARG fpar s g1 di fdig A & -8
[BERUCE |

Options :
1. % (2,7)
2.%(7,9)
3. % (5,2)
4. % (10, 14)

Question Number : 184 Question Id : 518120586 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which of the following command is used to round the corner of the solid model?
Options :



1. # Chamfer
2. # Extrude
3. # Shell
4. ¥ Fillet

Question Number : 184 Question Id : 518120586 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Fofafed @ 3 ford SHiS 31 SUART, 319 AlSd & I &I e B & fod Bial 82
Options :

1. % TR

2. % YRS

3. % QA

4. ¢ ftbeie

Question Number : 185 Question Id : 518120587 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Pump is a kind of turbo machine, which
Options :

1. ¥ Consume power

2. # Produces power

3. # Both absorbs as well as produces power

4. % Neither absorbs nor produce power

Question Number : 185 Question Id : 518120587 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
T U YHR $i call IR 5, Sl

Options :

1. ¢ forotefl &1 SUUNT HRaT 8




2. % faoTelt &1 IdTe Hdl &
3. % fooTelt & IUHNT & 1Y forell T IdTe HRdl g
4. % 9 q1 fooTelt BT IUHNT HRal & 7 & faoieh T IdTeT AT &

Question Number : 186 Question Id : 518120588 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

If a steel member is subjected to temperature rise and likely to expand freely, it will develops
Options :

1. ¥ no stress

2. % thermal stress

3. % tensile stress

4. ® gshear stress

Question Number : 186 Question Id : 518120588 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

e H18 WA 3aTd d9HH gl & 31efH § 3R Tvad: Wa ¥ I R a1 8, a1 T8 fam R B |
Options :

1. ¢ PIs Ufdad gl

2. % dIUg ufdad

3. ® G gfded

4. % U= Yfdad

Question Number : 187 Question Id : 518120589 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Kerala state celebrates a popular festival known as
Options :

1. # Ganesh Chaturthi

2. % Onam



3. % Brajholi
4. # Lokrang

Question Number : 187 Question Id : 518120589 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

R I | S AB T AGR AT STl & |
Options :

1. # Torey Tglf

2. ¥ 3

3. % Sofgral

4. % DB

Question Number : 188 Question Id : 518120590 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Ball and socket joint used in robotics is a
Options :

1. # Linear joint with 1 dof

2. % Rotary joint with 1 dof

3. # Rotary joint with 2 dof

4. ¥ Rotary joint with 3 dof

Question Number : 188 Question Id : 518120590 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

AT & ST fohdT S aren did 3R Hide Slise Uh gl
Options :

1. % 1 dof ATell XY fY

2. % | dof ATCit YOI Y

3. % 2 dof ATl UM WY




4. 3 dof ATClt YOI Y

Question Number : 189 Question Id : 518120591 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following robotic part is used for holding piece or tool?
Options :

1. % Controller

2. % Drivers

3. % Gripper

4. % Base

Question Number : 189 Question Id : 518120591 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fafeiad 7 9 f5g Aaifes URT o1 IuanT di a1 IUBUT 61 Udhs & forg fhar S 82
Options :

1. % IR
2. % IEaY
3. ¢ IR

4. % g9

Question Number : 190 Question Id : 518120592 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

is a drawing, of the working area, showing the location of the various activities identified by their numbered symbols and are
associated with particular flow process chart either man type or machine type.

Options :

1. ¥ Flow diagram
2. % String diagram
3. # Process diagram

4. % Product diagram



Question Number : 190 Question Id : 518120592 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

BT &7 BT B 2, Sl 370 shHifobd U] gRT fafad fafirs iafafil & =M &) gxifdr 8 iR ORIy vyare ufesan ard ardl
A9 UBR IT AL UHR A J&fId g 8|

Options :

1. ¥ A8 3™
2. % & 3
3. % Uihdl 3RW
4. % JAIE 3RG

Question Number : 191 Question Id : 518120593 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
In Method study, “O” symbol is used for
Options :

1. ¥ Operation

2. # Transportation

3. # Delay

4. # Storage

Question Number : 191 Question Id : 518120593 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fafd 31eme (Method study) H, “0” Udidh BT STANT ¥ fou g gl
Options :

1. ¢ 3TRIH

2. % TIAUICTH

3. % fea

4, % LR



Question Number : 192 Question Id : 518120594 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In a CNC program block, NO12 G03 G91 X40 Z40 ... GO3 refer to
Options :

1. ¥ circular interpolation in counterclockwise direction

2. # circular interpolation in clockwise direction

3. # absolute dimensioning

4. ® incremental dimensioning

Question Number : 192 Question Id : 518120594 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

CNC T &6 H, N012 G03 G91 X40 Z40 .. G03 TP Tefid Hdr g2
Options :

1. ¢ GG SR H THR SfddRH
2. % gfeonad fG=m § qaeR SddxH
3. % *RU ™

4. % gig=a sma™

Question Number : 193 Question Id : 518120595 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In CNC program, Miscellaneous Code M03 describes
Options :

1. ¥ Spindle ON clockwise

2. % Spindle ON anticlockwise

3. % Coolant ON

4. % Coolant OFF

Question Number : 193 Question Id : 518120595 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25

CNC U H, fFrafem oig Mo3 53 aftfa erar g2
Options :

1. ¢ gfomad fozn & fisa o9

2. % grATad RN H fsd 3

3. % AP 34

4. % Tfida® AH

Question Number : 194 Question Id : 518120596 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Corrective maintenance is also refered as
Options :

1. # Preventive maintenance

2. #® Predictive maintenance

3. ¥ Breakdown maintenance

4. ® Pro-active maintenance

Question Number : 194 Question Id : 518120596 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
GURTHD SIRE0 DI 1t BT ST g |
Options :

1. % FRIYTAD SRE

2. % YIqERIE® REUI

3. ¥ SHSIS SRETT

4. % qAihd SIREU

Question Number : 195 Question Id : 518120597 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25
process is used to obtain for high surface finish.
Options :
1. #* Drilling
2. % Trepanning
3. ¥ Reaming
4. % Broaching

Question Number : 195 Question Id : 518120597 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
UfehdT &1 IUTNT I G¥TT URTS (finish) & foIT grar 3|
Options :
1. % fgfeim
2. % COfT
3. ¢ RfET
4. % SR

Question Number : 196 Question Id : 518120598 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
From the following option Entrepreneur’s is primeray motivation for starting business is:

To make money

To be independent
To become powerful
To become famous

Options :

1. # As correct

2. % A and B Correct
3. % B is correct

4. % B and C is correct



Question Number : 196 Question Id : 518120598 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafaRad fawen o T coaumd Y& HRA & forg Ieeht &1 wrufie SR g:

uRig I
Options :

1. % ATEI®

2. % ASRBIE G
3. BUB @

4. % BIR CIG 8

Question Number : 197 Question Id : 518120599 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Complete the following sentence.

The Constitution of India guarantees fundamental rights to Indian citizens.
Options :

1.¥6

2.%5

3.% 4

4. % 7

Question Number : 197 Question Id : 518120599 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fafRad ot & @ &1
RO TG YR AR & Afere BRI Bt TR T 2|



Options :
1.¥6
2. %5
3.% 4
4, %7

Question Number : 198 Question Id : 518120600 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
The following limits are specified in a limit system, to give a clearance fit between a hole and a shaft:

+0.02 —0.004
Hole = 297901 1y and Shaft = 29 ~%°2 mm

Determine tolerance on shaft.
Options :

1. # 0.018 mm

2. % 0.014 mm

3. ¥ 0.016 mm

4. % 0.012 mm

Question Number : 198 Question Id : 518120600 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

v g 3T Tk ave % 99 v enh e 99a Fa F B, v d@ar gomet F =i

drae Afese §

+0.02 —0.004

fog = 25°001 mm 3y emwe = 257997 mm

MFE 9T TETeferar (Tolerance) AT FY|
Options :

1. # 0.018 mm

2. % 0.014 mm



3.4 0.016 mm
4. % 0.012 mm

Question Number : 199 Question Id : 518120601 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Tolerances for a hole and shaft assembly having a nominal size of 50 mm are as follows:

+0.04 —0.06
Hole = 90+%02 ;;ym and shaft = 207%°8 mm

Determine type of fit.
Options :

1. ® Transition fit

2. ® Interference fit

3. % Clearance fit

4. ® Loose fit

Question Number : 199 Question Id : 518120601 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

50 mm ATHATT ATFR T &g 31K e 3w & v ggafear (Tolerance) 0 91T &

+0.04 —0.06

g = 50402 mm 3R e = 50-°% mm
e (fit) = v A F1

Options :

1. % ThHU T (Transition fit)

2. % HfAHIT fUe (Interference fit)

3. ¢ 3ADHRI fihe (Clearance fit)

4. % TqY e (Loose fit)

Question Number : 200 Question Id : 518120602 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following process is used to produce only axisymmetric cup shaped article from sheet metal?
Options :

1. # Knurling

2. # Nibbling

3. % Spinning

4. # Bending

Question Number : 200 Question Id : 518120602 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafeiad o 9 fora uforar &1 Iuah U1 Xt ¥ Fad iefoamfid $U & TSR H1 o -1 & fore fasar i g2
Options :

1. % AN (Knurling)

2. % TS (Nibbling)

3. ¢ TSI (Spinning)

4. % g1 (Bending)



